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Model Test 2(General Tamil) - TNPSC Group 2 (A)
1. ngUkhs; jpUnkhopapy; --------ghRuq;fs; 

cs;sd. 

A) ,UEhw;iwe;J B) Ehw;iwe;J 

C) EhW   D) gjpndl;L 
2. ghNte;jh; ghujpjhrd; ghbaJ. 

A) “goikapUe;j epiy fpspNa ghkuh; 
Vjwpth;” 
B) “Njndhf;Fk; nre;jkpNo! eP fdp! 
ehd; fpsp” 
C)“rj;jpaj;jpd; epj;jpaj;ij ek;Gk; ahUk; 
NrUtPh;” 
D)“Njhs;fs; cdJ njhopw;rhiy eP 

njhLkplnky;yhk; kyh;r;Nrhiy” 
3. eLtzuR jkpo;nkhopia nrk;nkhopahf 

mwptpj;j tUlk; 

A) 2004   B) 2002 

C) 2005   D) 2001 

4. „jpuhtpl‟ vDk; nrhy;Ny jkpo; vDk; 
nrhy;ypypUe;J cUthdjhFk; vd;W 
$wpath; 

A) <uh]; ghjphpahh; B) fhy;Lnty; 

C) [p.A.Nghg;  D) tPukhKdpth; 
5. XnuOj;J jdpj;J epd;W nghUs; jUtJ? 

A) XnuOj;J xU nkhop  

B) nrhy; 

C) fpstp    

D) nkhop 

6. Vyhjp – Ehy;fSs; xd;W. 

A) gjpndz; Nkw;fzf;F 

B) gjpndz; fPo;f;fzf;F 

C) fhg;gpak; 

D) ghapuk; 

7. „neQ;ir ms;Sk; rpyg;gjpfhuk;‟ vd;W 
ghbath;. 

A) ,sq;Nfhtbfs; B) ghujpjhrd; 

C) ghujpahh;  D) ftpkzp 

8. irt rkaf;Futh; ehy;tUs; mhpkh;j;jd 
ghz;badplk; jiyik mikr;ruhfg; 
gzpahw;wpath; ahh;? 

A) jpUehTf;furh;  

B) jpUQhdrk;ge;jh; 

C) Re;juh; 

D) khzpf;fthrfh; 
9. ,yf;fzf;Fwpg;G mwpf: 

nfLg;gJhck; 

A) ,d;dpir msngil  

B) ,irepiw msngil  

C) nrhy;ypir msngil 

D) nra;Aspir msngil 
10. kUe;Jg; nghUs;fspd; ngahpy; mike;j 

,U Ehy;fs; 

A) jphpfLfk;> Vyhjp  

B) ,d;dhehw;gJ> ,dpait ehw;gJ 

C) jpUf;Fws;> ed;Dhy; 

D) ew;wpiz> mfehDhW 
11. rhpahdtw;iw nghUj;Jf: 

A)  fhd; - fub 

B)  cOit - rpq;fk; 

C)  klq;fy; - Gyp 

D)  Vz;F - fhL 

A) 4321   B) 4312 

C) 3412   D) 3421 
12. FWe;njhiff;F flTs; tho;j;Jg; 

ghbath; 

A) Njt Fyj;jhh; B) tpsk;gpehfdhh; 

C) G+hpf;Nfh  D) ngUe;Njtdhh; 

13. jphpfLfk; Ehypd; Mrphpah; 

A) tpsk;gp ehfdhh;  

B) ey;yhjdhh; 

C) Kd;Wiwaiuadhh;  

D) ngUthapd; Ks;spahh; 
14. FWe;njhifg; ghly;fspd; vz;zpf;if 

A) 401   B) 501 

C) 601   D) 301 
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15.  nghpahh; ,Ufz;fshff; fUjpait 

A) md;G> <if   

B) khpahij> Rakhpahij 

C) tha;ik> Jha;ik 

D) <if> tha;ik 
16. jpUf;FwSf;F gjpd;kh; ciu 

vOjpAs;sdh;.  mt;TiufSs; rpwe;j 
ciu vOjpa jkpo;r; rhd;Nwhh; ahh;? 

A) ,sk;G+uzh;   

B) er;rh; 

C) ghpNkyofh;   

D) e.K. Ntq;flrhkp 

17. „jkpo;Ntyp‟ vd;W kJiuj; 
jkpo;rq;fj;jpidf; $wpa Ehy; 

A) ghpghly;  B) GwehDhW 

C) jpUthrfk;  D) Njthuk; 
18. KDrhkp> kq;fsk; ,izaUf;Fg; gpwe;j 

kq;if 

A) md;dpngrd;l; mk;ikahh; 

B) jpy;iyahb ts;spak;ik 

C) Kj;Jnyl;Rkp nul;b 

D) ,uhzpkq;fk;khs; 

19. „vd;WKs njd;jkpo;‟ vd;wth; 
A) ghthzh;  B) fk;gh; 

C) jpU.tp.f.  D) c.Nt.rh 

20. „mw;G jg;go Mtzq; fhl;b 

mbadh vd;id MsJ nfhz;‟ 
- ghbath; ahh;? 

A) mg;gh;  B) rk;ge;jh; 

C) Re;juh;  D) jpU%yh; 

21. „gprpuhe;ijahh;> el;Gf;F ,yf;fzkhfj; 

jpfo;fpwhh;‟ vd;gJ 

A) czh;r;rp thf;fpak;  

B) tpdh thf;fpak; 

C) nra;jp thf;fpak;  

D) jd;tpid thf;fpak; 
22. rq;f Ehy;fSf;Fg;gpd; Njhd;wpa 

Ehy;fspd; njhFg;G ------------. 

A) vl;Lj;njhif  

B) gj;Jg;ghl;L 

C) gjpndz; fPo;f;fzf;F 

D) gjpndz; Nky;fzf;F 
23. nghUe;jhj ,iziaf; fz;lwpf: 

A) rpWgQ;r%yk;-fhhpahrhd; 

B) Qhdujk;-ghujpahh; 

C) vOj;J-rp.R.nry;yg;gh 

D) Fapy;ghl;L-fz;zjhrd; 
24. nghUj;Jf: 

A) Nkjp - rptd; 

B) re;jk; - vUik 

C) Nfhjpy; - moF 

D) mq;fzh; - Fw;wkpy;yhj 

A) 2341   B) 2314 

C) 3142   D) 3214 
25. nghUj;Jf: 

A) itjUg;gk; - kJuftp 

B) nfslk; - MRftp 

C) ghQ;rhyk; - tpj;jhuftp 

D) khfjk; - rpj;jpuftp 

A) 2314   B) 4312 

C) 2143   D) 3421 

26. fspkz; gyiffspy; vOjg;gl;l E}y;fspy; 

njhFg;G vq;F fz;nlLf;fg;gl;lJ? 

A) Mk;g+h;  B) epg;g+h; 

C) Nkg;g+h;  D) mhpaY}h; 

27. „jpuhtpl‟ vd;Dk; nrhy;iy Kjd; Kjypy; 

gad;ghl;Lf;Ff; nfhz;L te;jth; 

A) fhy;Lnty;   

B) <.nt.uh 

C) kiwkiyabfs;  

D) <uh]; ghjphpahh; 

28. xj;jhUk; cah;e;jhUk; jho;e;jhUk; vtUk; 

xUikAsh; Mfp cyfpay; elj;j 

Ntz;Lk; vd ghbath; 

A) ngUe;Njtdhhu; B) ghujpahh; 

C) ghujpjhrd;  D) ts;syhh; 

29. khNahd; nfhg;g+o; kyh;e;j jhkiu - 

,t;tb ,lk; ngw;w E}y; 

A) ghpghly;  B) ew;wpiz 

C) kJiuf; fhQ;rp D) neLey;thil 

30. „fhAk; tpy;ypd;d> fy;jpwd; Njhspdd;‟ –
vdg; Nghw;wg;gLgtd; 

A) ,uhkd;  B) mh;r;Rdd; 

C) Ffd;  D) fh;zd; 

31. ghtyNuW vd miof;fg;gLgth; 

A) NjtNeaghthzh; 

B) ngUQ;rpj;jpudhh; 

C) Rg;Guj;jpdjhrd; 

D) nt. ,uhkypq;fdhh; 

32. „rKjhankDk; kuj;jpd; Ntiur; 

rhjpg;GOf;fs; mhpj;Jtplhky; jLj;j er;Rf; 

nfhy;yp kUe;jhf ,Ue;jth;‟ 
A) mz;zy; fhe;jpabfs; 
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B) mk;Ngj;fh; 

C) je;ij nghpahh; 

D) ghujpahh; 

33. fPo;tUtdtw;Ws; kuGr; nrhw;fs; ,y;yhj 

njhlh; vJ? 

I. rpq;fk; Koq;Fk; 

II. g+id fPr;rpLk; 

III. Gwh FDFk; 

IV. tz;L KuYk; 

A) I kw;Wk; II rhp  

B) III kw;Wk; IV rhp 

C) I, III kw;Wk; IV rhp 

D) II, III kw;Wk; IV rhp 
34. KUfdhy; rpiwapyplg;gl;ltd; 

A) ehd;Kfd;  B) rptd; 

C) jpUkhy;  D) ,e;jpud; 

35. jpizfSf;Fhpa Ch;g;ngah;fisg; 

nghUj;Jf 

A) FwpQ;rp 1. ghb> Nrhp 

B) Ky;iy 2. Ng&h; %J}h; 

C) kUjk; 3. gl;bdk;> ghf;fk; 

D) nea;jy; 4. rpWFb 

 a b c D 
A) 4 1 2 3 

B) 2 1 4 3 

C) 2 4 3 1 

D) 3 1 4 2 

36. „rhjpAk; kjKQ; rkaKe; jtph;e;Njd; 

rhj;jpuf; Fg;igAk; jze;Njd;‟ – vdg; 
ghbath; 

A) jpU%yh;  B) nghpahh; 

C) ts;Sth;  D) ts;syhh; 
37. mhpah rdKdf;Nf ahdhy; cdf;Fr; 

rhpahUk; cz;Nlh jkpNo?‟ - ,lk; ngw;w 
Ehy; 

A) njd;wy; tpL JhJ  

B) neQ;R tpL JhJ 

C) jkpo; tpL JhJ  

D) Gifapiy tpL JhJ 

38. „fz; tdg;Gf; fz;Nzhl;lk;> 

fhy; tdg;Gr; nry;yhik‟ – vd 
cWg;goF ghbath; 

A) guzh;  B) fgpyh; 

C) fhhpahrhd;  D) Kbaurd; 

39. „guha;f;fld; ciuj;jy;‟ vd;gJ 
A) fld; Nfl;ly;   

B) fld; nfhLj;jy; 

C) Ntz;baJ epiwNtwpdhy; ,d;dJ 
jUNtd; vdy; 

D)thq;fpa flidj; ju kWj;jy; 
40. Nfhtyd;> fz;zfp kJiuapy; ahhplk; 

milf;fyg;gLj;jg;gl;ldh;? 

A) fTe;jpabfs; B) khjhp 

C) khjtp  D) neLQ;nropad; 

41. „Charity begins at home‟ vd;gjw;F 
,izahd jkpo;g;gonkhop 

A) jd;ifNa jdf;Fjtp 

B) mwepiyak; tPl;bNyNa Jtf;fk;  

C) jdf;F kpQ;rpNa jhdKk;> jUkKk; 

D) tPl;bNyNa jhdk; nra; 
42. mfg;Gwg;ghly;fisf; nfhz;l rq;f Ehy; 

vJ? 

A) gjpw;Wg;gj;J B) ghpghly; 

C) GwehDhW  D) mfehDhW 
43. ehd;kzpf;fbifiag; ghbath; ahh;? 

A) tpsk;gp ehfdhh;  

B) fgpyh; 

C) Kd;Wiw miuadhh;  

D) fLntspr; rpj;jh; 
44. jpUth&h; ehd;kzp khiyiag; ghbath; 

A) jpU%yh;  B) FkuFUguh; 

C) rptngUkhd; D)jpUQhdrk;ge;jh; 

45. “ahkwpe;j GythpNy fk;gidg; Nghy;” 
vd;W fk;giug; Gfo;e;J ghbath;? 

A) ghujpahh;   

B) ghujpjhrd; 

C) GfNoe;jp   

D) rilag;gts;sy; 
46. FWe;njhifapd; mbtiuaiw 

A) 8-16   B) 13-31 

C) 4-8   D) 9-12 
47. rhpahd tpilia Njh;T nra; 

 nrhy; nghUs; 
1. tpRk;G - je;jk; 
2. Jiy - ahid 
3. kUg;G - Jyhf;Nfhy; 
4. fspW - thdk; 
A) 4321   B) 4312 

C) 3142   D) 4213 
48. fypj;njhif -------------- Ehy;fspy; xd;W. 

A) gj;Jg;ghl;L   

B) vl;Lj;njhif 

C) gjpndz;fPo;f;fzf;F  

D) gjpndz;Nky;fzf;F 
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49.    DUBBING, DIRECTOR vd;w Mq;fpyr;   

nrhy;Yf;F Neuhd jkpo;r;nrhy;iyj; 

Njh;e;njLf;f?  

A) glg;gpbg;G> ,af;Feh; 

B) efh;j;Jk;tz;b> jahhpg;ghsh; 

C) xypr;Nrh;f;if> ,af;Feh; 

D) glg;gpbg;Gf; fUtp> jahhpg;ghsh; 
50. vOj;J vd;gjw;F Xtpak; vdg; nghUs; - 

$Wk; Ehy;fs; 

A) ew;wpiz> FWe;njhif  

B) mfehDhW> GwehDhW 

C) ghpghly;> FWe;njhif 

D) FWe;njhif> GwehDhW 
51. Nfhbl;l ,lq;fis epug;Gf: 

,uhzp kq;fk;khs; fl;ba md;dr;rj;jpuk; 
cs;s ,lk; -------------- 

A) jQ;ir  B) kJiu 

C) Nfhit  D) jpUr;rp 
52. <ifr; rpfuj;jpd; cr;rpapy; epd;wth; 

A) mk;Ngj;fh;  B) nghpahh; 

C) mz;zh  D) fhe;jpabfs; 
53. clw;gpzpiag; Nghf;Fk; kUj;Jt 

Ehy;fs; ,aw;wpa rpj;jh;fs; 
1. mfj;jpah;  2. Njiuah; 
3. Nghfh;  4. Gypg;ghzp 

A) 1>4 – rhp  B) 1>3>4 – rhp 
C) 2>4 – rhp  D) 1>2>3>4 - rhp 

54. „rhkpehjd;‟ vd;W Mrphpauhy; 
ngahplg;gl;lth; 

A) mk;Ngj;fh;  B) fhkuhrh; 

C) c.Nt.rh  D) mz;zh 
55. c.Nt.rhtpd; tho;f;if tuyhW njhluhf 

te;j ,jo; 

A) ,e;jpah  B) Fapy; 

C) Mde;jtpfld; D) etrf;jp 
56. jkpofj;jpy; fhe;jpabfs; 

Nkilg;Ngr;rpid nkhopg;ngah;j;jth; 

A) K. tujuhrdhh;  

B) nghpahh; 

C) jpU.tp.f.   

D) NguwpQh; mz;zh 
57. jpU.tp.ftpd; nra;As; Ehy;fs; 

1. chpikNtl;ly;   
2. irtj;jpwT 
3. nghUSk; mUSk;  
4. flTl;fhl;rpAk; jhAkhdtUk; 

A) 2>3 – rhp  B) 1>2- rhp 

C) 1>3 – rhp  D) ehd;Fk; rhp 

58. „kuGf;ftpijapd; Nth;ghh;j;jth;: 
GJf;ftpijapd; kyh;ghh;j;jth;‟ – vd;W 
ghuhl;lg;gLgth; 

A) K. Nkj;jh  B) rpw;gp 

C) mg;Jy;uFkhd; D) rp.kzp 
59. thzpjhrDf;F toq;fg;gl;l tpUJ 

A) ftpQNuW  B) GytNuW 

C) nrthypah;  D) ghtyh; kzp 

60. PROJECTOR vd;w Mq;fpyr; nrhy;Yf;F 
Neuhd jkpo;r; nrhy;iyj; Njh;e;njLf;f: 

A) glg;gpbg;G   

B) glg;gpbg;Gf; fUtp 

C) gltPo;j;jp   

D) ghh;it epiyg;G 
61. kuGj; njhlUf;Fg; nghUj;jkhd 

nghUisj; Njh;e;njLj;J vOJf 

“Mfhaj; jhkiu” 
A) miye;J jphpjy;  

B) ,y;yhj xd;W 

C) gadpd;wp ,Uj;jy;  

D) ,Ug;gJ Nghy; Njhd;Wk; Mdhy; 
,uhJ 

62.  “ghh;Fyhk; nry;t epd;id ,q;qdk; 
ghh;j;j fz;iz” 
fPo; cs;s tpilfspy; rhpahd tpilia 
vOJf: 

A) vJif kl;Lk; te;Js;sJ 

B) vJif ,iaGk; te;Js;sJ 

C) NkhidAk; vJifAk; te;Js;sJ 

D) Nkhid> vJif> ,iaG te;Js;sJ 
63. tpilf;Nfw;w tpdhitf; fz;lwpf: 

jpiug;glk; vLg;gjidtplr; nra;jpg;glk; 
vLg;gJ fbdkhd gzpahFk;. 

A) jpiug;glk; vLg;gjidtpl vg;glk; 
vLg;gJ fbdkhd gzpahFk;? 

B) jpiug;glk; vLg;gjidtpl ve;jg;glk; 
vLg;gJ fbdkhd gzpahFk;? 

C) jpiug;glk; vLg;gjidtpl fbdkhd 
gzp vJ? 

D) jpiug;glk; vLg;gjidtpl 
vt;tifg;;glk; vLg;gJ fbdkhd 
gzpahFk;? 

64. nghUe;jhj nrhy;iyf; fz;lwpf: 

A) nflhm  B) muq;fk; 

C) vLg;gJhck;  D) joP, 
65. ghjgPbif cs;s ,lk; 

A) tQ;rpkhefh;  B) kzpgy;ytjPT 
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C) MGj;jpud; ehL D) Nru ehL 

66. mwtz mbfs; „mwpTz;lhFf‟ vd 
ahiu vy;yhk; tho;j;jpdhh;? 

A) murkhNjtp> Njhopah; $l;lk; 

B) rpj;jpuhgjp 

C) kzpNkfiy 

D) midtiuAk; 

67. „Gy;yhfpg; G+lha;‟ ,lk; ngw;Ws;s Ehy; 
A) jpUthrfk;  B) jpUke;jpuk; 

C) Njthuk;  D) gjpw;Wg;gj;J 
68. khh;Nghiyapy; vOJk; vOj;jhzp 

A) <l;b   B) Jhhpif 

C) je;jk;  D) Crp 

69. „tdg;G‟ vd;Dk; nrhy;ypd; nghUs; 

A) moF  B) mwpT 

C) tsik  D) MSik 

70. „tpsk;gp‟ vd;gJ ------------------ngah; 
A) ,aw;ngah;  B) Gidngah; 

C) Ch;g;ngah;  D) nrhy;ngah; 
71. tpf;Nlhhpah kfhuhzp fhiyapy; 

fz;tpopj;jJk; Kjypy; gbj;j Ehy; 

A) tptpypak;   

B) jpUf;Fws; 

C) N~f;];gpahpd; gilg;Gfs; 

D) fPl;rpd; ftpijfs; 
72. jpUts;Stuhz;L vij cWjp nra;J 

fzf;fplg;gLfpwJ? 

A) fp.K. 31  B) fp.K. 13 

C) fp.gp. 2  D) fp.gp. 12 
73. nrhw;fis ,uz;L Kjy; ------------ 

cWg;Gfshfg; gFf;fyhk;? 

A) 3   B) 4  

C) 5   D) 6 
74. Kjw; nghUshtJ 

A) epyKk; nghOJk;  

B) mfKk; GwKk; 

C) capUk; nka;Ak;  

D) jpizAk; xOf;fKk; 
75. ,yf;fzj;jpy; nghUshtJ ahJ? 

A) nry;tk;  B) xOf;f Kiw 

C) mlf;fk;  D) mwpT 

76. „,dpait ehw;gJ‟ Ehypd; Mrphpah; ahh;? 

A) jhAkhdth;  B) rr;rpjhde;jd; 

C) G+jQ;Nre;jdhh; D) fgpyh; 

77. „mk;khid‟ vd;gJ --------------- tpisahLk; 
tpisahl;L 

A) Mz;fs;  B) ngz;fs; 

C) Foe;ijfs;  D) nghpath;fs; 
78. jpUf;Fws; -------------------- Ehy;fSs; xd;W. 

A) gjpndz;fPo;f;fzf;F  

B) gj;Jg;ghl;L 

C) vl;Lj;njhif   

D) gf;jp Ehy; 
79. fspw;wpahid epiu> kzpkpilgtsk;> 

epj;jpyf;Nfhit vd 3 gFjpfis 
cila Ehy; 

A) GwehDhW  B) mfehDhW 

C) ghpghly;  D) gjpw;Wg;gj;J 

80. CopngahpDk; jhk; ngauhh; 
rhd;whz;ikf;(F) 
Mop vdg;gLthh; 

vDk; Fwl;ghtpy; „Cop‟ vd;gjd; 
nghUs; 

A) fly;   B) epyk; 

C) fhyk;  D) cyfk; 

81. mfehDhw;wpy; xw;iwg;gil vz;fshf 
tUk; ghly;fs; rhh;e;j jpiz 

A) FwpQ;rpj; jpiz B) ghiyj; jpiz 

C) Ky;iyj; jpiz D) nea;jy; jpiz 

82. nghUe;jhj nrhy;iyj; njhpT nra;f. 

A) fypj;njhif B) FWe;njhif 

C) neLe;njhif D) eWe;njhif 

83. „Fapy;fs; $tpaJ‟ vd;gJ 

A) ghy; tO  B) jpiz tO 

C) vz; tO  D) ,l tO 

84. gpd;tUtdtw;Ws; ,ul;ilf;fpstp vJ? 

A) fyfyntdr; rphpj;jhs;  

B) tUftUf vd tuNtw;whd; 

C) ghh;j;Jg; ghh;j;Jg; Ngrpdhd; 

D) nehe;Njd; nehe;Njd; 

85. „if‟ vd;w XnuOj;J xUnkhopapd; 
nghUs; 

A) fhj;jy;  B) xypf;Fwpg;G 

C) xOf;fk;  D) Nrhh;jy; 

86. nghUj;Jf: 

1. Gs; - vUik 

2. Ejy; - Jd;gk; 

3. Nkjp - gwit 

4. eliy - new;wp 

A) 1324   B) 3412 

C) 4231   D) 2143 
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87. gpd;tUtdtw;iwg; nghUj;jp> fPNoAs;s 
njhFg;gpypUe;J rhpahd tpilapidj; 
njhpT nra;f. 
t.v
z; 

Ehy; Mrphpah; 

1. jkpo;r; 
Rlh;kzpfs; 

- 
kiwkiyabfs; 

2. jkpoh; kjk; - jpU.tp. 
fy;ahzRe;judhh; 

3. irtj;jpwT - 
uh.gp.NrJg;gps;is 

4. nre;jkpOk; 
nfhLj;jkpOk; 

- v];. 
itahGhpg;gps;is 

A) 4123   B) 3412 

C) 2341   D) 2413 

88. tsh;gpiw vd;gJ ------------- MFk; 

A) gz;Gj; njhif B) tpidj;njhif 

C) Ntw;Wikj;njhif D)ctikj;njhif 

89. gpioapy;yhky; ,yf;fzj;ijf; fy;. 
--jd;tpid thf;fpaj;jpw;Fr; rhpahd 
gpwtpid thf;fpaj;ijj; Njh;f: 

A) gpioapy;yhky; ,yf;fzj;ij vOJ 

B) gpioapy;yhky; ,yf;fzj;ijf; fw;gp 

C) gpioapy;yhky; ,yf;fzj;ijg; gb 

D) gpioapy;yhky; ,yf;fzj;ijg; NgR 

90. nry;tr; nrtpyp vd;gjd; 
,yf;fzf;Fwpg;G 

A) ctikj; njhlh;  

B) gz;Gj; njhif 

C) cUtfk;  

D) ehd;fhk; Ntw;Wikj;njhif 

91. cyfj; jkpo; khehL FbauRj; jiyuhy; 
njhlq;fp itf;fg;ngw;wJ-,J 
vt;tifahd njhlh;? 

A) jd;tpidj; njhlh;  

B) gpw tpidj;njhlh; 

C) nra;tpidj; njhlh;  

D) nrag;ghl;L tpidj;njhlh; 
92. jiytd; - ,r;nrhy;ypy; Ifhuk; ------ 

khj;jpiu Fiwe;J xypf;fpwJ. 

A) xd;wiu  B) xU 

C) miu   D) ,uz;L 
93. kjpy;Nghh; gw;wpa Gwj;jpizfSf;Fhpa 

Gwg;nghUisj; Njh;f: 

A) tl;fhh;Nkw; nry;tJ vjp&d;wy; 

B) epiufth;jy;> kPl;ly; 

C) vapy;fhj;jy;> tisj;jy; 

D) mjpug;nghUtJ> nrUntd;wJ 

94. New;W Gay; tPrpajhy;> gs;spf;F 
tpLKiw 
vt;tifr; nrhw;nwhliur; rhh;e;jJ? 

A) nra;jpj; njhlh;  

B) jdpepiyj; njhlh; 

C) fyitj; njhlh;  

D) njhlh;epiyj; njhlh; 

95. „ehd;‟ vd;gJ ehd;fhk; Ntw;Wik cUG 
ngw;why; ------ vd MFk;. 

A) vd;id  B) vd;dhy; 

C) vdf;F  D) epd;id 

96. fUtp fUj;jh – ,t;tpuz;il kl;Lk; 

czh;j;Jk; Ntw;Wik  

A) ,uz;lhk; Ntw;Wik 

B) %d;whk; Ntw;Wik 

C) ehd;fhk; Ntw;Wik 

D) Mwhk; Ntw;Wik 

97. „Snacks‟ vd;w Mq;fpy nrhy;ypw;F 

nghUj;jkhd jkpo;r; nrhy;iyj; Njh;f  

A) rpw;Wz;b  B) rpw;Wzh 

C) rpw;WzT  D) rPuhd czT 

98. %d;wbr; rpw;nwy;iyaha; ghLk; gh 

A) ntz;gh  B) Mrphpag;gh 

C) fypg;gh  D) tQ;rpg;gh 
99. rhpahdtw;iw Njh;e;njLj;J vOJf> 

fyk;gfk; ----------tifr; 
rpw;wpyf;fpaq;fSs; xd;W. 

A) njhz;Zhw;whW  

B) gjpndl;L 

C) gj;J   

D) njhz;Zhw;nwhd;gJ 

100. fz;zjhrd; gzpahw;whj ,jo; ngah; 

A) njd;wy;  B) Ky;iy 

C) Fapy;  D) jkpo; kyh; 
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Model Test 2 (General Studies) - TNPSC Group 2 (A)
1. Arrange the following committees in chronological 

order 

1. Gorwala Committee 

2. Ayyangar Committee 

3. Appleby Report 

4. Administrative Reforms Commission 

A) 1 – 3 – 2 – 4  B) 2 – 3 – 1 – 4 

C) 2 – 1 – 3 – 4  D) 3 – 1 – 2 – 4 

2. When was the state Nagaland-formed? 

A) 1961   B) 1963 

C) 1965   D) 1967 

3. The size of atoms and molecules are measured 

in 

A) 10
-6

   B) 10
-9 

C) 10
-12

   D) 10
-3

 

4. Select the pair, which are dimensionally alike among 

the following  

I. Product of force and time  

II. Product of momentum and time  

III. Product of Ariel velocity and linear density 

IV. Product of work and time  

A) I and II only  B) II and III only 

C) III and IV only  D) I and III only 

5. Which of the following statements are correct 

regarding Governor? 

1. He is constitutional head of state 

2. He is representative of the center  

Choose the correct answer 

A) 1 only   B) 2 only 

C) Both   D) None 

6. Find the incorrect statement(s) from the following 

(i) 2, 4, 5 trichlorophenoxy acetic acid is a herbicide 

(ii) Thallium compounds are fumigants 

(iii)Organo phosphorus insectides inhibit 

cholinesterase 

(iv) Organo chlorine insectides are stomach  poisons 

A) (i) and (iii) only  B) (ii) and (iii) only 

C) (ii) and (iv) only  D) (iii) and (iv) only 

7. Match List 1 with List 2 and answer through the 

codes given below : 

List 1 List 2 

(a)Infrared spectrometer 1. Measures the 

purity of sugar 

(b) Polarimeter 2. Test aeroplane 

surfaces under stress 

(c) Barometer 3. Study of 

molecular structure 

(d) Strain gauge 4. Measure 

atmospheric 

pressure 

 (a) (b) (c) (d) 

A) 2 4 1 3 

B) 2 3 4 1 

C) 3 1 4 2 

D) 4 3 1 2 

8. Arrange the following in the increasing order of their 

penetration powers 

I. Alpha rays   

II. Beta particles 

III. Gamma rays 

A) I – II –III   B) II – I – III  

C) II –III – I   D) III – II – I 

9. Turpentine is obtained from 

A) Pinusroxburghii  

B) Welwitschiamirabilis 

C) Ginkgobiloba  

D) Cycasrevoluta 

10. When was the supreme court of India 

inaugurated? 

A) Jan 26, 1950  B) Jan 28, 1950 

C) Feb 28, 1950  D) April 26, 1950 

11. Fructose-6-Phosphate is also known as  

A) Neuberg ester  B) Harden ester 

C) Young ester   D) Paranas ester 

12. Match List I with That II and select the correct 

answer using the codes given below the Lists: 
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List I List II 

(a) Fatty substance 

(b) Manufacture of ink  

(c) Nitrogenous waste product 

(d) Fruit jellies 

1. Pectins 

2. Suberin 

3.Tannins 

4. Alkaloids 

 (a) (b) (c) (d) 

A) 1 3 4 2 

B) 3 4 2 1 

C) 2 3 4 1 

D) 2 4 1 3 

13. Acids that are obtained from minerals are called 

A) Organic acid  B) Inorganic acid 

C) both A, B  D) None of these 

14.  Complete the following statement with appropriate 

choices and select the correct option: The State 

Information Commissioner shall be appointed by the 

Governor on the recommendation of a committee 

consisting of 

1. The Chief Minister 

2. The leader of opposition in the legislative 

assembly 

3. A Cabinet Minister, nominated by the Chief 

Minister 

4. The Chief Justice of the High Court 

A) 1 and 2 only  B) 1, 2 and 4 only 

C) 1, 2 and 3 only  D) 1, 3 and 4 only 

15. Match the following and choose the correct one: 

(a) Integrated Child Development 

Services 

1. 2002 

(b) National Rural Health Mission 2. 1975 

(c) National Health Policy 3. 1986 

(d) National Policy on education 4. 2005 

 (a) (b) (c) (d) 

A) 3 1 4 2 

B) 2 4 1 3 

C) 3 2 4 1 

D)) 1 3 2 4 

16. Which of the following statements is not true 

regarding powers of Chief Minister? 

A) He recommends person to be appointed as 

Minister 

B) He can ask minister to resign 

C) He allocates portfolios among ministers 

D) He communicates with president in matters of 

 administration 

17. Consider the following statements 

1. One member can be nominated by governor to the 

assembly. 

2. The nominated member can be anyone. 

Which of the statement is/are correct? 

A) 1 only   B) 2 only 

C) Both 1 and 2  D)None of the above 

18. Consider the following statements:- 

1. State legislature has to consider the bill sent fact 

by president for reconsideration within six months. 

2. President may withhold assent to money bill. 

Which of the statements are correct? 

A) 1 only   B) 2 only 

C) Both 1 and 2  D) Neither 1 nor 2 

19. Consider the following statements 

1. Parliament can make laws on state list when Rajya 

Sabha passes resolution that a law in necessary in 

national interest. 

2. Parliament can impose duties on a state. 

Which of the statements is/are correct 

A) 1 only   B) 2 only 

C) Both 1 and 2  D) None of the above 

20. Consider the following statements 

1. Governor should consult election commission 

before disqualifying Member of assembly. 

2. Legislative assembly can be extended for Six 

months after emergency is over 

Which of the statements regarding is/are correct? 

A) 1 only   B) 2 only 

C) Both 1 and 2  D)Neither1 nor 2 

21. Which one of the following cells formed during 

gametogenesis is diploid? 

A) Primary polar body  B) Spermatid 

C) Spermatogonia   D) Secondary polar 

22. A sum of Rs.800 amounts to Rs.920 in 3 years at a 

simple interest. If the interest rate is increased by 

3%. What would Rs.800 amount to? 

A) 950   B) 970 

C) 992   D) 1000 

23. Find the pH of a buffer solution containing 0.20 

mole per litre sodium acetate and 0.15 mole per litre 

acetic acid given that issociation constant of acetic 

acid is 1.8 × 10
-5

 

A) 5.8697   B) 5.1303  

C) 4.1303   D)4.8697  

24. In human, Prothrombin required for blood clotting is 

synthesized in the 

A) Spleen   B) Stomach  
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C) Liver   D) Thymus 

25. Match Column I with Column II and III and choose 

the correct options : 

Column I Column II Column 

III 

1. Typhoid (a) 

Haemophilus 

influenza 

(i) Chronic 

inflammation 

of the 

lymphatic 

vessels 

2. Pneumonia (b) 

Trichophyton 

(ii) Dry scaly 

lesions on the 

skin 

3. Filariasis (c) Salmonella 

typhi 

(iii) Alveoli 

filled with 

fluid 

4. Ringworm (d) Wuchereri 

malayi 

(iv) Intestinal 

perforations 

A) 1–c–iv; 2–a–ii; 3–b–i; 4–d–iii 

B) 1–c–iv; 2–b–ii; 3–a–iii; 4–d–i 

C) 1–c–iv; 2–a–iii; 3–d–i; 4–b–ii 

D) 1–c–iv; 2–d–ii; 3–a–i; 4–b–iii 

26. The bird man of India is 

A) Mohammed Ali B) Ahamed Ali 

C) Salim Ali  D) Syed Ali 

27. Toad stool is 

A) Zycomycota  B) Basidiomycota 

C) Ascomycota  D) Denteromycota 

28. Find the next alphabet in the sequence B, E, I, N, ? 

A) U    B) V 

C) D   D) S 

29. Murali‟s present age is half of his father's age. 

Before 10 years, his father‟s age was thrice his age. 
Find the present age of Murali and his father. 

A) 16,32 years  B) 15, 30 years 

C) 20, 40 years  D) 17, 34 years  

30. Which Article empowers the President to summon 

and prorogue either Houses of Parliament 

A) Article 75  B) Article 81 

C) Article 85  D) Article 88 

31. A sum of Rs.1,550 was lent partly at 5% and 

partly at 8% per annum at simple interest.The 

total interest received after 3 years was Rs.300. The 

ratio of the money lent at 5% to that lent at 8% is  

A) 5: 8   B) 8:5 

C) 16: 15   D) 31:6 

32. The power of centre and state is based on three list 

which is given in 

A) 7
th

 Schedule   B) 8
th
 Schedule 

C) 9
th
 Schedule  D) 6

th
 Schedule 

33. If 
ܾܽ

=  
4

5
 and 

ܾܿ
=  

15

16
 then the valueof

ܿ2−ܽ2ܿ2+ܽ2
 

A) 
1

7
   B) 

7

25
 

C) 
3

4
   D) 

1

4
 

34. Which of the following mountains of North America 

has been renamed as Denali? 

A) Mount Elbert  B) Mount Mitchell  

C) Mount McKinley D) Mount Whitney 

35. The planet which has the fastest orbital motion is 

A) Mercury  B) Venus 

C) Earth   D)Mars 

36. If 5 ⊕3 = 34 and 6⊕ 2 = 40 then, the value of 7⊕ 1 

is  

A) 54   B) 34 

C) 50   D) 30 

37. The part of the earth‟s interior which is known as 
Asthenosphere is  

A) SIMA   B) Upper Mantle 

C) Lower Mantle  D) Outer core 

38. Largest area in the ocean floor is occupied by 

A) Continental shelf      B) Continental slope 

C) Deep sea plain  D) Ocean deeps 

39. Match the given hill stations with the states in which 

they arelocated : 

Hill Stations States 

(a) Araku 1.Jammu and Kashmir 

(b) Gulmarg 2.Himachal Pradesh 

(c) Kulu 3.Meghalaya  

(d) Shillong 4.Andhra Pradesh 

  (a) (b) (c) (d) 

A) 4 2 1 3 

B) 4 1 2 3 

C) 2 1 3 4 

D) 2 3 1 4 

40. Who was the President of All India State People 

Conference during 1946-1947? 

A) Sardar Vallabhai Patel  

B) Pandit Jawaharlal Nehru 

C) Dr. Rajendra Prasad  

D) V.P. Menon 

41. In 1868, the National Income estimate Committee of 

India was headed by  

A) V. K. R.V. Rao  B) Shah & Khambatt 

C) Dadabhoy Naoroji D) W.C. Peterson 
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42. The value of    ܽݔݕݖ
 is 

A)  ܽݕݖݔ
  B)  ܽݕݔݖ

 

C)  ܽݖݕݔ
  D)  ܽݔݖݕ

 

43. Which one of the following finance commission 

prescribed the devolution of tax revenue to states on 

the net proceeds of all central taxes? 

A) 8
th

 finance commission 

B) 11
th
 finance commission 

C) 10
th
 finance commission 

D) 9
th

 finance commission 

44. At what rate of compound interest per annum will a 

sum of Rs.1,200 become Rs.1848.321 in 2 years 

A) 6%   B) 6.5% 

C) 7%   D) 7.5%  

45. Bharat Nirman was started to unlock the 

development potential of 

A) Indian Bond Market 

B) Public Sector undertakings 

C) Urban India  

D) Rural India 

46. A sum of Rs.53 is divided among ABC in such a 

way that A gets Rs.7 more than what B gets and B 

gets Rs.8 more than what C gets. The ratio of their 

share is  

A) 16:9: 18   B) 25: 18: 10 

C) 18: 25: 10   D) 15: 8: 30 

47. From when did India adopt indicative planning? 

A) Seventh Five Year Plan (1985-90) 

B) Eighth Five Year Plan (1992-97) 

C) Ninth Five Year Plan (1997-2002) 

D) Tenth Five Year Plan (2002-2007) 

48. A cone, a hemisphere and a cylinder stand on equal 

bases and have the same height. Find the ratio of 

their volumes 

A) 3:2:1   B) 1: 2: 3 

C) 3:1:2 .  D) 1:3:2 

49. Who among the following stayed away without 

taking part in 1857 Revolt? 

1. Sindhia 

2. Holkar  

3. Gaekwar 

4. Nizam  

A) 1, 2 and 4 only  B) 2, 3 and 4 

C) 2, 3 and 4 only  D) 1 and 4 only 

50. Consider the following statements: 

1. It was set up based on the recommendation of 

Hilton Young commission. 

2. The RBI Act, 1934 per review provides for the 

statutory basis of the functioning of the bank 

3. It continued to serve as the Central Bank of 

Burma up to April 1947. 

4. It served as the Central Bank of Pakistan up to 

June 1948. 

Which of the statement is/are incorrect? 

A) 2 only   B) 1 and 3 only 

C) 4 only   D) None 

51. In 1615, who arrived at the court of Jahangir 

and succeeded in getting permission to set up 

their trading centers 

A) William Hawkins B) Sir Thomas Roe 

C) Both a, b  D) James I 

52. Consider the following statements with reference to 

the Indo Soviet Treaty in 1971. Which of the 

statements given below is /are correct: 

I. This treaty was signed for 20 years 

II. This treaty was concluded on August 9, 1971 by 

Soviet Foreign Minister Gromyko  and 

India‟s Minister of External Affairs Sardar  Swaran 

Singh 

III. A former, congress President K.Kamaraj said, “It 
would not only consolidate the friendship 

between the two countries but also  help the cause 

of peace in Asia and the world” 

A) I only   B) I and II only 

C) II only   D) II and III only 

53. If x
2
 + 4y

2
 - 4xy, then x : y is 

A) 2: 1   B) 1: 2 

C) 1:1   D) 1: 4 

54. Planned Economy for India was published by  

A) Mahalanobis  B)M. N. Roy 

C) Shriman Narayan  D)M. Visvesvaraya 

55. Which of the following were the liquid 

measurements used by the imperial cholas? 

A) Ma, Kuzhi  B) Kalanju, Madai 

C) Nali, Uri  D) Tuni, Padakku 

56. Find out the odd number in the series given 25, 36, 

49, 81, 121, 169, 225  

A) 36   B) 49 

C) 169   D) 225 

57. Which among the following is not related to the 

Aligarh Movement? 
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I. Providing modern education to Indian Muslims 

II. Reform of Muslim society 

III. Bringing Indian Muslims close to Modernism 

IV. Awakening of Nationalism among Indian 

Muslims 

A)  I        B) II   C) III     D) V 

58. Match the following and choose the correct option: 

a) Flute  1. Ali Akbar Khan 

b) Tabla  2. Nishat Khan 

c) Sitar  3. Zakir Hussain 

d) Sarod  4. Rajendra Prasanna 

 (a) (b) (c) (d) 

A) 4 3 2 1 

B) 4 3 1 2 

C) 3 4 1 2 

D) 1 2 3 4 

59. Which is not a book of martin luther? 

A) An address to the nobility of the German 

nation 

B) On the babyloanian captivity of the church 

C) Last supper 

D) The freedom of the Christian man 

60. Match the following: 

1. First Carnatic 

War 

- Treaty of 

Allahabad 

2. Third Carnatic 

War 

- Village near 

Calcutta 

3. Plassey - Aix-la-

chappelle 

4. Battle of buxar - Treaty of 

paris 

A) 1234   B) 4321 

C) 3421   D) 3412 

61. Warner Hastings became the Governor of 

Bengal 

A) 1770   B) 1771 

C) 1772   D) 1773 

62. Who presided over the Karachi Session of Indian 

National Congress in 1931? 

A) Sardar Vallabhai Patel  

B) Gandhi 

C) Lala Lajpat Rai  

D) Annie Besant 

63. Regulating Act in  

A) 1772   B) 1773 

C) 1784   D) 1792 

64. Which Indian dynasty impose a  tax called "Patdam" 

on remarriage of widows ? 

A) The Mughals 

B) The Peshwas 

C) The Sambhuvarayas 

D) The Nayaks of Tanjore 

65. Six bells commence tolling together, afterwards they 

toll at intervals of 2, 4, 6, 8, 12 seconds respectively. 

In 30 minutes, how many times do they toll 

together? 

A) 4   B) 10 

C) 15   D) 16 

66. Which country won the „Copa America‟ Cup of 

2016? 

A) Chile   B) Argentina 

C) Brazil   D) Uruguay 

67. Seven men working 9 hours a day can do a piece of 

work in 30 days. In how many days will 10 men 

working for 7 hours a day do the same work? 

A) 28 days   B) 30 days 

C) 32 days   D) 27 days 

68. Which was the birth place of industrial 

revolution 

A) USA   B) France 

C) England  D) Germany 

69. Which gene was identified recently by scientist of 

India as primarily responsible for obesity among 

Indians? 

A) THCM8B   B) THFG6C  

C) THKR8E   D) THSD7A 

70. In September 2015, Tamil Nadu‟s largest solar plant 
was commissioned at 

A) Minjur (Tiruvallur Dist.)  

B) Rajakkamangalam (Kanyakumari Dist.)  

C) Vinnandhur (Namakkal Dist.) 

D) Sengottai (Virudhunagar Dist.) 

71. A can do a certain job in 12 days. B is 60% more 

efficient than A. How many days does- B alone take 

to do the same job? 

A) 6 days   B) 7 ½days 

C) 8 days   D) 8½ days 

72. Bidhya Bhandari who was elected as the first women 

President of Nepal in October 2015 belongs to 

A) Madeshi Jana Adhikar Forum  

B) Communist party of Nepal  

C) Nepali Congress  
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D) Rastriya Prajatantra party 

73. The length of a rectangle is increased by 60%. By 

what percent would the width have to be decreased 

so as to maintain the same area 

A) 37
1

2
%   B) 60% 

C) 75%   D) 120% 

74. Pick out the wrong statement about Rabindranath 

Tagore 

I) He founded Shanti niketan (now  Viswabharati 

university) in Bengal 

II) He is the first Asian to receive Nobel prize in 

1915  

III) His works are 'post office‟ and „Gora‟ 
IV) He is the writer of National Anthems of  India 

and Srilanka 

A) I only   B) II only  

C) I and III only  D) II and IV only 

75. If 5
a 
= 6;6

b
= 7; 7

c
 = 5, then find the value of abc. 

A) 0   B) -1 

C) 2   D) 1 

76. When did the unique identification authority of India 

generate the Aadhar card? 

A) 29
th
 Aug. 2009  B) 26

th
 Sep. 2011 

C) 29
th
 Sep. 2010  D) 25

th
 Oct. 2010 

77. Identify the particle physicist through the dues given 

below 

1. He Nobel Prize in physics for the year 2013 along 

with Francois Englert. 

2. He won the Royal Society‟s Copley medal on 20, 
July 2015  

A) Franck Wikzek  B) Peter. W. Higgs 

C) Stephen Hawkings D) Joseph Taylor 

78. Match the recipients of Arjuna Awards for the year 

2014-2015 with their games : 

a) Sandeep Kumar 1. Shooting 

b) Sathish Kumar 2. Boxing 

c) Mandeep Jangra  3. Weight lifting 

d) Jitu Rai  4. Archery 

 (a) (b) (c) (d) 

A) 1 3 4 2 

B) 4 3 2 1 

C) 3 4 1 2 

D) 2 4 1 3 

79. Find the missing letters in the series AZ, GT, MN, ? 

?, YB  

A) JH   B) SH 

C) SK   D) TS  

80. Match the names of the books in List I with the 

authors in List II: 

List I List 

II 

(a) Dreaming Big: My journey to 

connect India 

1. 

Nandan 

Nilekani 

 

(b) Advantage India : From 

challenge to opportunity 

2. A.S. 

Dulat 

(c) Rebooting Government 3. Sam 

Pitroda 

(d) Kashmir : The Vajpayee years 4. A.P.J. 

Abdul 

Kalam 

 (a) (b) (c) (d) 

A) 1 3 4 2 

B) 3 4 1 2 

C) 2 3 1 4 

D) 4 3 2 1 

81. Identify the writer who won the prestigious Man 

Booker Prize for fiction, 2015? 

A) Tom McCarthy   B) Marlon James 

C) Sunjeev Sahota  D) Anne Tyler 

82. Which organisation‟s 73rd
 foundation day is being 

observed on 26th September 2015?  

A) ICAR   B) ISRO  

C) CSIR   D) NIO 

83. Which of the following statements on SAHAJ 

scheme is/are  

(1) SAHAJ will enable customers to post  online 

request for a new LPG connection 

(2) It was launched by the Finance Ministry 

(3) Initially the scheme was launched in 22  cities 

across the country 

A) (1) only   B) (1) and (2) only 

C) (2) and (3) only  D) (1) and (3) only 

84. If a: b = 6:7 and b: c = 8: 9 then a: c is equal to? 

A) l6:2l   B) 6:9 

C) 27: 28   D) l: 2 

85. India‟s first dedicated multi wavelength space 
observatory for astronomy research, launched on 

28th September 2015 is 

A) GSAT-6   B) GSAT-15 

C) GSAT-16  D) ASTROSAT  

86. Find the greatest number that will divide 43, 91      

and 183 so as to leave the same remainder in   

 each case  
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A) 4   B) 7 

C) 9   D) 13 

87. Find the length of the attitude of an equilateral 

triangle of side 3 3cm  

A) 27 cm   B) 9 3 cm 

C) 9 cm   D) 4.5 cm 

88. Find out the values of a, b, c and d in the following 

equation 

IO3
−

+ aI
−

+ bH
+ → CH2O + dI2 

A) a = 3, b = 2, c = l, d = l  

B) a = 5, b = 6, c = 3, d = 3 

C) a = 5, b = 6, c = 3, d = 6  

D) a = 10, b = 12,    c = 6, d = 6 

89. How much time will it take for an amount Rs.2,000 

to double at a simple interest rate 8%  

A) 25½ years  B) 10½years 

C) 8½ years   D)12½years 

90. The first BRICS migration conference in October 

2015 was held at  

A) Sochi, Russia  

B) Beijing, China 

C) New Delhi, India  

D) Riyadh, Saudi Arabia 

91. In which of the following tennis tournaments in 

2015, Sania Mirza and Martina Higgins pair did not 

win the women‟s doubles championship? 

A) Miami open  B) French open 

C) US open   D) Wimbledon 

92. Which of the following schedule was inserted by the 

74th Amendment Act? 

A) 12
th
 Schedule  B) 11

th
 Schedule 

C) 13
th
 Schedule  D) 10

th
 Schedule 

93. If  784 + x = 78% of 500, then the value of x is 

A) 342   B) 352 

C) 362   D) 372 

94. Bharat Nirman was started to unlock the 

development potential of 

A) Indian Bond Market 

B) Public Sector undertakings 

C) Urban India  

D) Rural India 

95. First pipe can fill a tank in 12 hours. Second pipe 

can fill the same tank in 6 hours. Third pipe in 4 

hours. How long will it take to fill the tank if ail the 

3 pipes are opened simultaneously? 

A) 2 hrs.   B) 3 hrs. 

C) 4 hrs.   D) 12 hrs 

96. When was the first World Antibiotic Awareness 

week observed? 

A) 16 November to 22 November 2015 

B) 5 November to 11 November 2015 

C) 22 October to 28 October 2015 

D) 18 October to 24 October 2015 

97. Which one of the following finance commission 

prescribed the devolution of tax revenue to states on 

the net proceeds of all central taxes? 

A) 8
th

 finance commission 

B) 11
th
 finance commission 

C) 10
th
 finance commission 

D) 9
th

 finance commission 

98. Who made this famous statement? 

“Owning things is human, sharing them is divine”  
A) Douglas Malloch   

B) Oscar Wilde 

C) RuskinBond  

D) Dr. A.P.J. Abdul Kalam 

99. The programme launched by ECI in March 2016 

across the country in support of their motto is 

A) NERP    B) NSCN  

C) NTES    D) NEPV 

100. The water which does not contain small amount 

of natural salts 

I) Hand pumps      II) Wells     

III) ponds      IV) Taps 

A)  IV        B) I       

C) IV , I       D)  None of these 

 

 

 



 

1  

 

Branches: Madurai, Trichy, Erode, Karur, Salem, Dindigul, Thanjore, Theni, Virudhunagar 

Website: www.dexteracademy.in                                                     Call or Whatsapp: 7305533533 

 

Model Test 2 (General Studies) - TNPSC Group 2 (A)
1. ,e;jpa murpayikg;gpd; ve;j tpjp 

mbg;gil flikfisg; gw;wp $WfpwJ? 

   A) tpjp 51A  B) tpjp 44 

C) tpjp 41A  D) tpjp 52 
2. ,e;jpa murpayikg;gpd; ve;j gFjp 

gQ;rhaj;J uh[; mikg;igg; gw;wp $WfpwJ? 

A)  gFjp VIII  B)  gFjp X 

C) gFjp IX  D) gFjp XI 

3. gpd;tUtdtw;iw nghUj;Jf: 
 ngz;fs; 

mjpfhuj;jpw;f;f
hd 
Kd;Kaw;rpfs; 

  mwpf;Nfhs;fs; 

AA) 1)uh~;bhpa 
k`pyh Nfh~; 

-mq;fd;thb  
ikaq;fspy;  
gzpGhpAk;  
fpuhkq;fs; kw;Wk;  
FbirapypUf;Fk;  
ngz;fs; 

BB) 2)Rtjhh; -Vio kw;Wk;  
nrhj;J ,y;yhj  
ngz;fspd;  
jpwikfis  
cah;j;JtJ 

CC) 3)ngz;fSf;fh
d gapw;rp 
kw;Wk; 
Ntiytha;g;G 
jpl;lk; 

-ngz;fSf;fhd  
fld; trjpfs; 

DD) 4),e;jpuh 
k`pyh 
Nah[;dh 

-fbdkhd re;jh;g;g  
epiyfspy;  
ngz;fspd;  
Njitfis 
G+h;j;jp  
nra;tJ 

A) 2314   B) 3421 

C) 1243   D) 4132 
4. 1975-Mk; Mz;L Njh;jy; rPh;jpUj;jk; 

njhlh;ghd jhh;Fz;Nl FOtpd; Kf;fpa 
ghpe;Jiu 

   A) Njh;jy; Mizak; %d;W egh; nfhz;l 
FOthf khw;wg;gl Ntz;Lk;. 

B) Njh;jy; Miza cWg;gpdh;fs; epakdk; 
gpujk mikr;ruhy; jiyik ePjpgjpapd; 
MNyhidapd; mbg;gilapy; eilngw 
Ntz;Lk;. 

C) Njh;jy; Miza cWg;gpdh; epakdk; 
FbauRjiyth; kw;Wk; gpujk ke;jphpahy; 
Nkw;nfhs;sg;gl Ntz;Lk;. 

D) Njh;jy; Miza cWg;gpdh; epakdk; 
gpujk mikr;rh;> kf;fsit vjph;fl;rp 
jiyth; kw;Wk; ,e;jpa jiyik ePjpgjp 
MfpNahuhy; Nkw;nfhs;sg;gl Ntz;Lk;. 

5. gpd;tUk; $w;Wfspy;> kj;jpa Coy; 
fz;fhzpg;G Mizaj;ijg; gw;wp 
cz;ikapy;yhj $w;W vJ? 

  A) ,J xU Nky;kl;l murhq;ff; FO 

B),J 1964 Mk; Mz;L cUthf;fg;gl;lJ. 

C),J xU Gyd; tprhuiz FOkk;  

D),J xU jd;dhl;rpf;F ,izahz epiy 
cilaJ. 

6. xNu MSeh; xd;W my;yJ xd;Wf;F 

Nkw;gl;l khepyj;jpy; MSeuf epakpf;f 

KbAk; vd $Wk; rl;lj;jpUj;jk; vJ? 

A) 24tJ rl;lj;jpUj;jk; 

B) 42tJ rl;lj;jpUj;jk; 

C) 7tJ rl;lj;jpUj;jk; 

D) 22tJ rl;lj;jpUj;jk; 

7. ,U vz;fspd; $l;Lj; njhif 33> mtw;wpd; 

NtWghL 15 vdpy; mjd; rpwpa vz; vJ? 

A) 7   B) 11 

C) 9   D) 3 

8. A vd;w FohahdJ njhl;bia 45 kzp 

Neuj;jpYk; B vd;w FohahdJ njhl;bia 30 

kzp Neuj;jpYk; epiwT nra;fpwJ. ,U 

Foha;fisAk; jpwf;Fk; NghJ njhl;b 

fhypahf cs;sJ vdpy; mj;njhl;bia 

epug;Gtjw;F vt;tsT kzp Neuk; MFk;. 
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A) 12 kzp Neuk; B) 14 kzp Neuk; 

C) 16 kzp Neuk; D) 18 kzp Neuk; 

9. 63+25 = 16, 12+18 = 12 kw;Wk; 23 + 17 = 13 

vdpy; 54 + 22 = ? 

A) 13   B) 17 

C) 19   D) 20  

10. xU Ntiyia 20 ngz;fs; 16 ehl;fspYk; 

16 Mz;fs; 15 ehl;fspYk; Kbf;fpwhh;fs;. 

Mz; kw;Wk; ngz;zpd; Ntiyj;jpwd; 

tpfpjkhdJ. 

A) 3:4   B) 4:3 

C) 5:3   D) 2:1 
11. ghuhSkd;wj;jpd; <uitfSk; nray;gl 

Fiwe;jgl;r cWg;gpdh; vz;zpf;if vd;d? 

A) 55 fPoit cWg;gpdh;fs; kw;Wk; 25 
Nkyit cWg;gpdh;fs; 

B) 60 fPoit cWg;gpdh;fs; kw;Wk; 30 
Nkyit cWg;gpdh;fs; 

C) 70 fPoit cWg;gpdh;fs; kw;Wk; 35 
Nkyit cWg;gpdh;fs; 

D) 125 fPoit cWg;gpdh;fs; kw;Wk; 75 
Nkyit cWg;gpdh;fs; 

12. 2A = 3B = 4C vdpy; A:B:C d; tpfpjk; 

A) 1: 2: 3  B) 2: 3: 4 

C) 6: 4: 3  D) 4: 5: 2 

13. “caph; thOk; njhy;Yaph; gbk jhtuk;” 
vd;W miof;fg;gLtJ vJ? 

A) Mh;f;fpahg;lhp]; n`y;ypdh 

B) igd]; uhf;];gh;[p 

C) irf]; nutY}l;lh 

D) [pd;f;Nfh igNyhgh  

14. jhtuq;fspy; xspr;Nrh;f;if epwkpfs; 

fhzg;gLk; ,lk; 

A) fhp];Nl  B) rp];lh;Nd 

C) fpuhdk;  D) ];l;Nuhkh  

15. xU rJuKk;> xU rk gf;f Kf;NfhzKk; 

xNu Rw;wsT nfhz;lit. rJuj;jpd; %iy 

tpl;lk; 12 2 nr.kP vdpy; rkgf;f 

Kf;Nfhzj;jpd; gug;G 

A) 64 3  nr.kP2  B) 60 2 nr.kP2 

C) 50 5  nr.kP2  D) 58 3  nr.kP2 

16. 4 3  nr.kP2 nr.kP %iytpl;lk; nfhz;l xU 

fdr; rJuj;jpd; fd msT 

A) 16   B) 22 

C) 19   D) 64 

17. &. 1>000 f;F Mz;Lf;F 10% tl;b tPjk; 4 

tUlq;fs; fopj;J fpilf;Fk; jdp tl;bf;Fk; 

$l;L tl;bf;Fk; cs;s NtWghL 

A) &.58.95  B) & 64.10 

C) &. 72.17  D) &. 55.40 

18. ,U vz;fspd; tpfpjk; 5:6 kw;Wk; mtw;wpd; 

kP.rp.k 480 vdpy; mt;ntz;fspd; kP.ng.t 

vd;gJ 

A) 20   B) 16 

C) 6   D) 5 

19. fhuk; vd;gJ jz;zPhpy; fiuAk; nghOJ 

OH
- madpiaj; jUk; 

A) mh;fPdpa]; jj;Jtk; 

B) Y}ap]; jj;Jtk; 

C) gpuhd;];lL – yt;hP jj;Jtk; 
D) c\hdhtp[; jj;Jtk 

20. ,U vz;fspd; kP.rp.k 48 kw;Wk; 

mt;ntz;fspd; tpfpjk; 2:3 vdpy; mt;tpU 

vz;fspd; $Ljy; 

A) 28   B) 32 

C) 40   D) 64 

21. ghY}l;bfspd; nry;fspy; cs;Ns 

gFg;gilAk; Gujk; 

A) itu];   

B) ikNfhgpsh];kh 

C) gphpahd;]; 

D) ghf;Bhpah 

22. RUf;Ff : (1350÷15-5) ÷ (47.5-15x2.5) 

A) 85   B) 10.5 

C) 10   D) 8.5 
23. nghJ fl;Lg;ghL ve;j gl;baypy; 

fhzg;gLfpwJ? 

A) kj;jpa murhq;f gl;bay; 

B) khepy murhq;f gl;bay; 

C) nghJg;gl;bay; 

     D)kj;jpa kw;Wk; khepy murhq;f gl;bay;fs; 
24. nfhLf;fg;gl;l Mq;fpy vOj;J njhlH 

thpiria epiwT nra;Ak; rhpahd 
tpiliaj;  NjHe;njLf;fTk;. 
AB___B,BC ___ C,___AB ____ AB __B 

A) CCAAC  B)  CBABC 

C) CACAC  D) BCCAB 
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25. gpd;tUk; vz; njhlhpy; Nfs;tpf; Fwpapl;l 
,lj;jpy; tuNtz;ba vz; vJ? 
24,536,487,703,678? 

A) 736   B) 842 

C)742   D) 836 

26. 15 nr.kP MuKs;s xU tl;lj;jpypUe;J 140o 
ikaf;Nfhzk; nfhz;l xU tl;lf;Nfhzg; 
gFjpia xU khztd; ntl;bnaLj;J mjd; 
Muq;fis xd;wpizj;J xU $k;ghf;fpdhy;> 
fpilf;Fk; $k;gpd; tisgug;G vd;d? 𝜋 =

22/7 
A) 572r.nr.kP  B) 527r.nr.kP 
C) 275r.nr.kP   D) 257r.nr.kP  

27. ,uz;L cUisfspd; Muq;fspd; tpfpjk; 5:3 
vdTk; mtw;wpd; cauq;fspd; tpfpjk; 3:5 
vdTk; ,Ug;gpd; mtw;wpd; fd msTfspd; 
tpfpjk; vd;d? 
A) 5:5   B) 3:3 
C) 9:25   D) 5:3 

28. 2016k; Mz;bd; cyf fgbapy; Nfhg;igia 

ntd;w ehL vJ? 

A) =yq;fh  B) <uhd; 

C),e;jpah   D) rPdh  

29. 15% $LjYf;F gpd; A apd; Gjpa Cjpak; 

Rs. 1932 vdpy; A apd; gioa Cjpak; 
vd;d? 

A) Rs. 1600  B) Rs. 1680 

C) Rs.1700  D) Rs. 1660 
30. tpLgl;l vz;iz fz;Lgpb 

5,22,68,153,287, -------? 

A) 385   B) 480 

C) 530   D) 450 

31. 39 kP 10nr.kP ePsk; kw;Wk; 35kP 70nr.kP 
mfyk; nfhz;l xU nrt;tf tbt 
miwf;F jiu XL Nghl;lhy;> me;j 
miwf;F nghUj;jkhd kpf mjpfgl;r jiu 
XLfs; vt;tsT Njit? 

  A) 480   B) 485 

C) 490   D) 483 

32. jkpofj;jpy; cg;G rj;jpahfpuf eilgazk; 
Nehf;fp nrd;w ,lk; 

A) jpUr;rp – ehfg;gl;bdk;  
B) jpUr;rp – Ntjhuz;ak;  

C) jpUr;rp – mjpuhk; gl;bdk;  

D) jpUr;rp – Ntshq;fd;dp 
33. a

2
 + b

2
 = 45 kw;Wk; ab= 18 vdpy; 1/a + 1/b 

fhz;f: 

A) ± ½   B) ±1/3 

C) ±1/4   D) ±1 

34. xU fpuhkj;jpd; kf;fs; njhif xNu rPuhf 

xt;nthU Mz;Lk; 6.25% $bf;nfhz;L 
nry;fpwJ.  ,g;nghOJ mjd; kf;fs; 
njhif 82>536 vdpy; ,uz;L Mz;LfSf;F 
Kd; vd;dthf ,Ue;jpUf;Fk;? 

A) 77,681   B) 75,534 

 C) 73,111   D) 76,742 

35. fpN\hhp rf;jp Nah[dh jpl;lk; 

njhlh;GilaJ? 

A) 11-18 taJf;Fhpa ,sk; ngz;fs; 

B) tajhd ngz;fs; 

C) Cuf ngz;fs; 

D) fy;tpawpT ngw;w ngz;fs; 
36. xU Fwpg;gpl;l mryhdJ 2 Mz;Lfspy; 

Rs.720 MfTk; gpwF> ,d;Dk; xU 5 

Mz;Lfspy; Rs.1020 MfTk; khWfpwJ 
vdpy; mjd; tl;b tPjj;ijf; fhz;f: 
(tl;bia jdp tl;b vd nfhs;f) 

 A) 8%   B) 9% 

C) 10%   D) 11% 

37. 5 vz;fspd; ruhrhp 120MFk;.  gpd;dh; 
,tw;wpy; xU vz; 15 vd;w rhpahd kjpg;ig 
tpl;L 5 vd;w jtwhd kjpg;ghf vLj;J 
ruhrhp fzf;fpl;lJ njhpa te;jJ. Gjpa 
rhpahd ruhrhp vd;d? 

A) 120   B) 125 

 C) 126   D) 122 

38. xU rha; rJuj;jpd; %iytpl;l msTfs; 20 
nrkP> 12 nr.kP vdpy; mjDila gug;gsT 

A) 120 nr.kP2  B) 200 nr.kP2 

C) 400 nr.kP2  D) 600 nr.kP2 
39. gpd;tUk; murikg;G tpjpfspy; ve;j xd;W 

MW taij> Foe;ijfs; milAk; tiu 
mth;fSf;F ftdpg;Gk;> fy;tpAk; 
mspf;fNtz;Lk; vd $WfpwJ? 

A) murikg;G tpjp 45 

 B) murikg;G tpjp 44 

C) murikg;G tpjp 43  

D) murikg;G tpjp 41 
40. Nyhf; rghtpy; me;jkhd; epf;Nfhghh; A+dpad; 

gpuNjrj;jpw;F vj;jid cWg;gpdh; ,lq;fs; 
cs;sd? 

A) 2 ,lq;fs;  B) 3 ,lq;fs; 
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C) 1 ,lk;  D) 4 ,lq;fs; 
41. gpd;tUk; murikg;G tpjpfspy; ve;j xd;W 

fy;fj;jh cah;ePjpkd;wk; me;jkhd; 
epf;Nfhghh; jPTfspd; kPJ ePjptuk;gpay; 
mjpfhuk; gilj;jJ vdf; $WfpwJ? 

A) 240   B) 239 

C) 241   D) 242 

42. Mq;fpy vOj;Jf;fs; thpirapy; „EFGH‟ , 
„VUTS‟ w;F rk;ke;jg;gl;ljhf ,Ue;jhy;> 
„BCD‟w;F fPo;fz;l vJ rk;ke;jkhf 
,Uf;Fk; 

A) YXW   B) YXU 

C) ZYW   D) PON 

43. nfhLf;fg;gl;Ls;s vz; thpirapy; jtwhd 
vz;iz fz;Lgpbj;J vOJf. 

5,6,14,40,105,230,446 

A) 230   B) 105 

C) 40   D) 446 

44. nkhj;jk; 108 ge;Jfs; rptg;G> gr;ir kw;Wk; 
ePy epw lg;ghf;fspy; itf;fg;gl;lJ.  gr;ir 
kw;Wk; rptg;G lg;ghf;fspy; itf;fg;gl;l 
ge;Jfspd; nkhj;j vz;zpf;if ePy epw 
lg;ghtpy; itf;fg;gl;l ge;Jfspd; 
vz;zpf;ifapy; ,U klq;Fk;> ePy lg;ghtpy; 
itf;fg;gl;l ge;Jfspd; vz;zpf;if rptg;G 
lg;ghtpy; itf;fg;gl;ljpd; ,U klq;F 
vd;why; gr;ir lg;ghtpy; itf;fg;gl;l 
ge;Jfspd; vz;zpf;if vt;tsT? 

A) 18   B) 36 

C) 45   D) 54 

45. khHr; 2017-,y;> kj;jpa mikr;rfj;jhy; r%f 

Clfq;fspy; Jtf;fp itf;fg;gl;l> ngl;Nuhy; 

kw;Wk; thAj; njhlHghd re;Njfq;fSf;F 

vd;W xUq;fpize;j Fiw jPHT ,aq;Fjsk; 

A) Gem SPV 

B) URJA MITRA 

C) MOPNG e Seva (MOPNG e- Nrit) 

D) Petro e Seva (ngl;Nuh e- Nrit) 

46. epj;jp MNahf; jiytH ahh? 

A) [dhjpgjp 

B) gpujk ke;jphp 

C) Jiz FbauRj; jiytH 

D) cr;r ePjpkd;w ePjpgjp 

47. nry;ypd; Mw;wy; ehzak; vd;W 
miof;fg;gLtJ 

A) ATP   B) ADP 

C) NADP   D) NADPH 2 

48. ,U x fw;iwfs; xd;wpize;J> ngUk nrwpT 

cUthf;fj; Njitahd epge;jidahdJ 

A) 2d sin θ = (n +½)λ   

B) 2d cos θ = (n + ½)λ 

C) 2d cos θ = nλ     

D) 2d sin θ = nλ 
49. g+kpf;Fk; re;jpuDf;Fk; ,ilapyhd J}uj;ij 

,Uklq;fhf Mf;fpdhy; ,tw;wpw;F 

,ilNaAs;s GtpaPh;g;G tpirahdJ 

A) ghjpahf ,Uf;Fk; 

B) fhy; gFjpahf ,Uf;Fk;. 

C) ,U klq;F ,Uf;Fk; 

D) ehd;F klq;F ,Uf;Fk;. 

50. ,e;jpa cr;r ePjpkd;wj;jpy; Jtf;f mkh;T 

vg;NghJ eilngw;wJ? 

A) 26 [dthp 1950  

B) 29 [dthp 1950 

C) 28 [dthp 1950  

D) 15 Mf];l; 1949 

51. gl;bay; I I gl;bay; II cld; nghUj;Jf 

gl;bay; I gl;bay; II 
A) xbrh 1. ghd;Nfhq; 

B) kzpg;g+h; 2. Ngk;gdhL 

C) [k;K 
kw;Wk; fh\;kPh; 

3. rpy;fh 

D) Nfush 4. Nyhf;lhf; 
 a B c d 

A) 3 4 2 1 

B) 4 3 1 2 

C) 3 4 1 2 

D) 4 1 2 3 
52. ;gpd;tUtdtw;wpy; vJ fhpk g+r;rpf; nfhy;yp 

kUe;J? 

A) Nghh;lhf;]; kpf;rh; 

B) b.b.b 

C) Nghhpf; mkpyk; 

D) Nrhbak; NghNul; 

53. rhpahf nghUj;jg;gl;lJ vJ? 

A) ghypiz kuG 
topg;gz;G 

- Mh;jpiub]; 
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B) Y - ghypiz 
kuG topg;gz;G 

- `PNkhgPspah 

C) ghypiz nfhy; 
kuG topg;gz;G 

- my;gpdprk; 

D) jha; top 
kuGg;gz;G 

- ej;ij Xl;bd; 
jpUFr; RUs; 

54. nghUj;Jf 

A)ePjpaurh; 
ehdhtjp kw;Wk; 
\h FO 

1.,Ryhkpahpd; 
epiy 

B)ePjpaurh; 
ngy;NyU kw;Wk; N  
= fpU\;zh FO 

2.,uhf;fpy; 
eilngw;w 
cztpw;F 
vz;nza; Coy; 

C) uhN[e;jh; rr;rhh; 
FO 

3. Nfhj;uh 
rhjpg;Nguzp 
2002 

D) ePjpaurh; R.S. 
gjf; tprhuiz 
FO 

4. Kk;igapy; 
eilngw;w 
rhjpa Nguzp 
(1992) 

 a b c d 
A) 1 4 3 2 

B) 2 4 1 3 

C) 1 2 3 4 

D) 3 4 1 2 
55. ve;j murpayikg;G rl;lj;jpUj;jj;jpd; %yk; 

kf;fs; mitapd; vz;zpf;if 545 Mf 

cah;j;jg;gl;lJ? 

A) 42tJ rl;lj;jpUj;jk; 

B) 44tJ rl;lj;jpUj;jk; 

C) 40tJ rl;lj;jpUj;jk; 

D) 52tJ rl;lj;jpUj;jk; 
56. jhd;j;Jitl;bd; fhyepiy tifg;ghl;by; 

gad;gLj;jg;glhj Fwpfhl;b 

A) <uf; Fwpfhl;b  

B) <ug;gjf; Fwpfhl;b 

C) jhtuf; Fwpfhl;b  

D) twl;rp Fwpfhl;b  

57. gpd;tUk; njhlhpy; nghUe;jhjij Njh;T 

nra;f 

10, 25, 45, 54, 60,75, 80 

A) 54   B) 25 

C) 80   D) 10 

58. fPo;f;fhz;gitfis fhyKiwg;gb 

thpirg;gLj;Jf 

I. tq;fhs gphptpid 

II. nusyl; rl;lk; 

III. K];yPk; yPfpd; Njhw;wk; 

IV. tq;fhs gphptpidia ,uj;J nra;jy; 

A) I, II, IV, III  B) I, III, IV, II 

C) II, IV, I, III  D) II, IV, I, III 

59. “ghfp];jhd;” vDk; vz;zj;ij 

cUthf;fpath; 

A) u`;kj; myp 

B) KfkJ myp [pd;dh 

C) mGy;fyhk; Mrhj; 

D) Kfk;kJ ,f;ghy; 

60. “lh;Gyd;l; ,ah;]; (1980-1996)” vd;w 
Gj;jfj;ij vOjpath; ahh;? 

A) gpuzhg; Kfh;[p   

B) V.gp.N[. mg;Jy; fyhk; 

C) R.K. ehuhazd;  

D) F~;te;j; rpq; 

61. thpir I cld; thpir II-I nghUj;jp 
thpirfSf;Ff; fPo; nfhLf;fg;gl;Ls;s 
njhFg;gpypUe;J rhpahd tpilia njhpT 
nra;f. 

thpir 
vz; 

thpir I thpir II 

1. rpe;J P.V - ky;Aj;jk; 
2. jPgh 

fhh;Nkfh; 
- Fj;Jr; 
rz;il 

3. rhf;~p 
khypf; 

- [pk;dh];bf;]; 

4. tpfh]; 
ahjt; 

- ghl;kpz;ld; 

A) 4213   B) 4123 

C) 4312   D) 3214 

62. 1858 tpf;Nlhhpah kfhuhzp Nguwpf;ifia 
myfhghj;jpy; mwptpj;jJ ahh;? 

A) fhdpq; gpuG   

B) tpf;Nlhhpah kfhuhzp 

C) NkNah gpuG 

D) [hd;rp uhzp yl;Rkpgha; 

63. ,e;jpahtpd; Kjy; ePh;kPd; epiyak; 
epWtg;gl;l ,lk; 

A) rptrKj;jpuk;  B) Nkl;^h; 

C) lhh;[pypq;  D) gf;uheq;fy; 

64. thpir I cld; thpir II –ia nghUj;jp 
thpirfSf;F fPo; nfhLf;fg;gl;Ls;s 
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njhFg;gpypUe;J rhpahd tpilia 

Njh;e;njLf;fTk;: 
t.vz; thpir I thpir II 

1. #hpad; - Ntjptpid 

2. #hpakpd;fyd; - mZf;fU 
,izT 
tpid 

3. fhhPa mkpy 
Nrkf;fyd; 

- kpd;fhe;jj; 
Jhz;ly; 

4. AC 
kpd;dpaw;wp 

- xsp Mw;wy; 
kpd;dhw;wyhf 
khw;wg;gLjy; 

A) 3241   B) 1324 

C) 2431   D) 2413 

65. $w;W (A): Nghf;Ftuj;J fl;Lg;ghl;L 
tpsf;Ffspy; rptg;G epw tpsf;F 

thfdq;fis epWj;jg; gad;gLj;jg;gLfpwJ. 

$w;W (R): rptg;G epw xsp Fiwe;j 
miyePsj;ijg; ngw;Ws;sjhy; Fiwthf 

rpjwy; milfpwJ. 

A) (A) rhp (R) jtW 

B) (A) jtW (R) rhp 

C) (A) kw;Wk; (R) rhp 

D) (A) kw;Wk; (R) jtW 

66. gpd;tUtdtw;Ws; rhW cwpQ;Rk; G+r;rpfis 

fl;Lg;gLj;j gad;gLk; G+r;rp nfhy;yp vJ? 

A) khyj;jpahd;            B) FNshNuhighpgh]; 

C) ijNahlhd;  D) ilkPj;NjhNal; 

67. v/fpy; fhzg;gLk; fhh;gdpd; rjtPj msT 

vt;tsT? 

A) 0.15% - 1%  B) 0.25% - 2% 

C) 0.35% - 3%  D) 0.9% - 9% 

68. fPo;fz;ltw;iw fhy fpuhk Kiwg;gb 
thpirg;gLj;jTk;. 

I. ,e;jpa Nguhop Rdhkp 

II.  G+[; epyeLf;fk; 

III.  fhj;khz;L epyeLf;fk; 

IV cj;jufz;l; epyr;rhpT 

A) II,I,IV,III  B) I,II,IV,III 

C) IV,I,II,III  D) II,IV,I,III 

69. fq;if nly;lhtpd; mikg;G ve;j 
nly;lhtpd; cjhuzk; 

A) gwitf;fhy; nly;lh  

B) tl;l tisT nly;lh 

C) nghq;Fk; Kf nly;lh 

D) tprpwp tbt nly;lh 

70. gl;bay; I cld; gl;bay; II I nghUj;jp> 
gl;bay;fSf;F fPNo cs;s njhFg;gpypUe;J 
rhpahd tpiliaj; njhpT nra;f. 

 gl;bay; I gl;bay; II 
1. kz;lhkh]; - ve;j 

mjpfhuj;jpd; 
gb 

2. `hgpa]; 
fhh;g]; 

- MizapLjy; 

3. f;x 
thuz;l; 

- rhd;wspj;jy; 

4. ]ph;~uhhp - 
cliyczh;j
y; 

A) 2341   B) 2431 

C) 1423   D) 2413 
71. gpd;tUk; ,af;fq;fis xOq;FgLj;Jf: 

I.  fpyh/gl; ,af;fk; 

II. rl;l kWg;G ,af;fk; 

III. xj;Jioahik ,af;fk; 

IV. nts;isaNd ntspNaW ,af;fk; 

A) I,III, II,IV  B) II,III,I,IV 

C) IV,II,I,III  D) III,I,IV,II 

72. gpd;tUtdtw;wpypUe;J> rhpahfg; 
nghUj;jg;gl;Ls;s ,iz (m) ,izfis 
fz;lwpf: 

I Mrpa 
tpisahl;L> 
2018 

- [hfh;jh 
kw;Wk; 
ghyk;ghq; 

II fhkd;nty;j; 
tpisahl;L> 
2018 

- Nfhy;l; 
N`h];L 
efuk; 

III Xypk;gpf; 
tpisahl;L> 
2020 

- yhNrd; 

A) I kw;Wk; II kl;Lk;  

B) I kw;Wk; III kl;Lk; 

C) II kw;Wk; III kl;Lk;  

D) III kl;Lk; 
73. fPNo nfhLf;fg;gl;Ls;sitfspy; jtwhd 

thf;fpaj;ij Njh;e;njLf;fTk;. 

A) Nyl;liul; kz; mad kz;lyj;jpd; 
cah;epyg; gFjpfspy; Njhd;Wfpd;wJ. 

B) hPfh; kz;zpy; ,Uk;Gr; rj;J mjpfkhf 
fhzg;gLk;> Mdhy; iel;u[d; rj;J 
Fiwthf ,Uf;Fk;. 



 

7  

 

C) nrk;kz;zpd; Nky; mLf;F rptg;G 
epwj;jpy; fhzg;gLk;> Mdhy; ,jd; fPo; 
mLf;F fUg;G epwj;jpy; fhzg;gLk; 

D) tz;ly; kz;iz fhjh; kw;Wk; ghq;fh; 
vd ,uz;L tiffshf gphpf;fyhk; 

74. milahhpy; cs;s Gw;WNeha; 
kUj;Jtkidf;F mbf;fy; ehl;bath; ahh;? 

A) C.N. mz;zhJiu B) [t`h;yhy; NeU 

C) kfhj;kh fhe;jp D) b.vk;. ehah; 
75. fPNo nfhLf;fg;gl;Ls;sitfspy; jtwhd 

thf;fpaq;fis Njh;T nra;f 

A) 23½°t ml;r Nuif – flf Nuif 
B) 66½°nj ml;r Nuif – kfu Nuif 
C) 23½°nj ml;r Nuif – md;lhh;bf;tl;lk; 

D) 0°jPh;f;f Nuif – Kjd;ik jPh;f;f Nuif 

A) (A)kw;Wk; (B) B) (D)kw;Wk; (C) 

C) (A)kw;Wk; (D) D) (B)kw;Wk; (C) 
76. 1977-k; Mz;L eilngw;w ,e;jpaf; FbauR 

jiyth; Njh;jypy; Nghl;bapd;wp xU kdjhf 
Njh;e;njLf;fg;gl;lth; ahh;? 

A) tp.tp.fphp  

B) fpahsp n[apy;rpq; 

C) ePyk; rQ;rPt; nul;b  

D) v];. ,uhjhfpU~;zd; 
77. nghUj;Jf: 

 Mlk;gu 
,uapy;fs; 

Nkk;gLj;jpath; 

1
. 

Ngy]; 
Md; tPy;]; 

- ,e;jpa 
,uapy;Nt 

2
. 

Nfhy;ld; 
rhhpahl; 

- ,uh[];jhd; 
muR 

3
. 

nlf;fhd; 
xbrp 

- fh;ehlfh 
muR 

4
. 

Uay; 
uh[];jhd; 

- k`huh~;l;uh 
muR 

A) 3241   B) 4321 

C) 2341   D) 1432 
78. fPo;f;fhZk; jpl;lf; fhyq;fspy; ve;j 

jpl;lj;jpy; Njrpa tUtha; tsh;r;rp tPjk; 
kpf mjpfkhf ,Ue;jJ? 

A) I Ie;jhz;L jpl;lk;  

B) V Ie;jhz;L jpl;lk; 

C) VI Ie;jhz;L jpl;lk; 

D) VIII Ie;jhz;L jpl;lk; 
79. rh;tNjr ehl;ba ehs; ------------- md;W 

filgpbf;fg;gLfpwJ. 

A) Nk 1   B) Vg;uy; 30 

C) Nk 2   D) Vg;uy; 29 

80. A Tld; BI nghUj;jp> fPNo 
nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J rhpahd 
tpilia Njh;T nra;: 
 A B 

1. ,dk; tq;fhs 
,af;fk; (1826-31) 

- iraJ  
mfkJ 

2. T`hgp ,af;fk; - Nfhghy  
fpU~;z  
NfhfNy 

3. ,uhkfpU~;zh 
,af;fk; 

- Yhap  
tptpad;  
^uh]pNah 

4. ,e;jpa 
Nritahsh; 
rq;fk; 

- Rthkp 
tpNtfhde;jh; 

A) 3142   B) 1234 

C) 2134   D) 4231 
81. tFg;Gthj mwpf;ifapid ,q;fpyhe;J 

gpujkH ,uhk;Nr nkf;nlhdhy;L mwptpj;j 
ehs; 
A) 16> Mf];l; 1932 B)20> nrg;lk;gH 1932 
C) 17> etk;gH 1932 D)16> Mf];l; 1946 

82. fPo; nfhLf;fg;gl;Ls;s ,izfspy; 
jtwhdtw;iw NjHe;njL. 
A) rHt[dpf; rig    - vk;.[p.uhdNl 
B),e;jpa Njrpa fhq;fpu];  - V.X.`pa+k; 
C)yz;ld; ,e;jpar; rq;fk;  - jhjhgha 
nesNuh[p 
D) kjuh]; Nebt; mNrhrpNard;-RNue;jpuehj;  
ghdH[p 

83. ,e;jpa Njrpa fhq;fpu]pd; Kjy; ngz; 
jiytH ahH? 
A) rNuh[pdp ehAL   
B) md;dpngrd;l; 
C) tp[ayl;Rkp gz;bl;  
D) ,e;jpuhfhe;jp 

84. rpW Fd;Wfs; kPJs;s ,g;gFjpapd; Njapiy 
Njhl;lq;fs; „gPy;fs;‟vd miof;fg;gLfpd;wd. 
A) m];]hkpd; gpuk;kGj;jpuh gs;sj;jhf;F 
gFjp 
B) m];]hkpd; fHkh gs;sj;jhf;F gFjp 
C) jkpo;ehl;bd; Nkw;F njhlHr;rp kiyg;gFjp 
D) Nfushtpd; Nkw;F njhlHr;rp kiyg;gFjp 

85. gpd;tUk; vtw;Ws; kf;fl;njhif  
mbg;gilapy; ,e;jpa khepyq;fs; ,wq;F 
thpirapy; mikf;fg;gl;Ls;sd? 
A)cj;jpugpuNjrk;-gP`hH-Nkw;Ftq;fk;-
k`huh~;buk; 
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B)gP`hH-Nkw;Ftq;fk;-cj;jpugpuNjrk;-
k`huh~;buk; 
C)cj;jpugpuNjrk;-k`huh~;buk;-gP`hH-
Nkw;Ftq;fk; 
D)cj;jpugpuNjrk;-k`huh~;buk;-Nkw;Ftq;fk;-
gP`hH 

86. gl;bay; 1 (Nfhs;)-I gl;bay; 11-(epyh) 
cld; nghUj;Jf. 
gl;bay; 1  gl;bay; 11 
 (A) tpahod; 1. l;iulhd; 
(B) rdp  2. kpuhz;lh 
(C) ANud]; 3. ANuhg;gh 
(D) neg;ba+d; 4. illhd; 

(A) (B) (C) (D) 

A)  3  2  4  1   

B)   1  3  2  4 

C)   3  4  2  1 

D)   4  3  1  2 

87. gl;bay; I I gl;bay; II- cld; nghUj;Jf. 
gl;bay; 1   gl;bay; 11 
rHtNjrtpkhdk;  efuk; 
(A)lhf;lHghghrhNfg 
;mk;Ngj;fhH     1.nfs`hj;jp 

    (B) rp.n`r;.ruz;rpq;   2. thuhdhrp 
    (C) yhy; gfJ}H rh];jphp  3. yf;Ndh 

(D)Nyhf;gphpah Nfhgpehj;  
ghHNlhypah     4.ehf;g+H 

    (A)       (B)   (C) (D) 

A)     4      2     1 3   

B)      3      2     4 1 

C)      3      4     2 1 

D)     4      3     2 1 

88. NITI MNahf; mKYf;F nfhz;L tug;gl;l 

Mz;L 

 A) [dthp-1>1950  B) [dthp-1>2015 

 C) [dthp-1>1947  D) [dthp-1>1948 

89. gj;jhk; Ie;jhz;L jpl;lj;jpy; rpW njhopy; 

epWtdq;fspd; epjp msT vd;d? 

A) 75 yl;rk;;  B) 100 yl;rk; 

C) 50 Nfhb  D) 75 Nfhb 

90. 2017- y; R.K. efH ,ilj; NjHjypy; 

Nghl;bapl;l Ntl;ghsHfspd; vz;zpf;if 

A) 127   B) 62 

C) 68   D) 45 

91. cw;gj;jpg; nghUl;fSf;F xg;gspj;J tUk; 

gpuKfHfSf;fhd topKiw njhFg;G 

xd;wpid ASCI, Vg;uy; 2017-,y; 

epWtpAs;sJ. ASCI vd;gJ 

 A) Authorised Standards Council of India 

 B) Advertising Standards Council of India 

 C) Authentic Standards Council of India 

 D) Authentic Standards Court of India 

92. gpg;uthp 2017-,y; kj;jpa muR ghuj;-QR 

FwpaPL vd;w Gjpa vz;zpyf;f gzk; 

nrYj;J Kiwapid njhlf;fpAs;sJ. QR 

FwpaPL vd;gJ ,ijf; Fwpf;Fk;. 

A) Qwerty Response FwpaPL 

B) Quick Response FwpaPL 

C) Queue Response FwpaPL 

D) Quasi Response FwpaPL 

93. ,e;jpahtpNyNa kpf ePskhd rhiy Fifg; 

ghij 

A) kypFlh Fifg;ghij 

B) gpH gQ;rhy; Fifg;ghij 

C) gdpfhy; Fifg;ghij 

D) gl;dplhg; Fifg;ghij 

94. cyfpd; Kjy; kpjf;Fk; #hpa kpd; epiyak; 

mikag; ngw;w ehL. 

A) mnkhpf;fh  B) [g;ghd; 

C) njd; nfhhpah D) ,e;jpah 

95. 2016d; tq;fpfspd; Nkhrb gl;baypy; ,lk; 

ngwhj tq;fp vJ? 

A) SBI (v];.gp.I) 

B) HDFC (n`r;.b.vg;.rp) 

C) ICICI (I.rp.I.rp.I) 

D) fduh tq;fp 

96. cyf vOj;jwpT jpdk; nfhz;lhlg;gLk; 

ehs; vJ? 

A) 8tJ khHr;  B) 2tJ mf;NlhgH 

C) 8tJ nrg;lk;gH D) 5tJ khHr; 

97. ,e;jpah tuyhw;W Ma;Tf; fofk; XH 

epidTr; rpd;dk; ,aw;ifahdjh my;yJ 

kdpjdhy; cUthf;fg;gl;ljh vd;gij 

fz;lwpa XH njhy;ypay; mfoha;T 

nra;ag;NghfpwJ. me;j epidTr; rpd;dk; 

vJ? 

A) khngUk; gtsg;ghiwj; jpl;L 

B) Mjhk; ghyk; 

C) tq;fhsj;jpd; rJg;G epyf;fhLfs; 
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D) lhy;kd; Fiffs; 

98. fPo;f;fz;l thf;fpaq;fisf; ftdp. 

I.thy; el;rj;jpuj;jpd; thy; vg;NghJk;  

#hpaDf;F tljpirapy; mikAk;. 

II.thy; el;rj;jpuj;jpd; thy; vg;NghJk;  

#hpaDf;F Nkw;F jpirapy; mikAk;. 

III.thy; el;rj;jpuj;jpd; thy; vg;NghJk;  

#hpaDf;F vjpH jpirapy; mikAk;. 

IV.thy; el;rj;jpuj;jpd; thy; vg;NghJk;  

#hpaDf;F njw;F jpirapy; mikAk;. 

Nkw;fz;l $w;Wfspy; vJ / vit rhp? 

A) I kw;Wk; II rhp  B) III kl;Lk; rhp 

C) II kw;Wk; IV rhp D) IV kl;Lk; rhp 

99. fPo;f;fz;l thf;fpaq;fisf; ftdp. 

$w;W (A) : tspkz;ly caH  

mLf;Ffspy; fhzg;gLk; fhw;Nwhl;lk; n[l;  

fhw;Nwhl;lk; vdg;gLk;. 

fhuzk; (R) : ,f;fhw;Nwhl;lk; ,e;jpahtpd 

gUtf; fhw;wpd; njhlf;fk;   kw;Wk;  

KbtilAk; fhyj;ij epHzapf;fpwJ. 

,tw;Ws; vJ rhp vd jPHkhdpf;fTk;. 

A) (A) kw;Wk; (R) ,uz;Lk; rhp 

B) (A) kw;Wk; (R) ,uz;Lk; jtW 

C) (A) rhp Mdhy; (R) jtW 

D) (A) jtW Mdhy; (R) rhp 

100. fPNo nfhLf;fg;gl;Ls;s jkpof murpd; 

tsHr;rpj; jpl;lq;fspd; njhFg;Gfspy; 

[g;ghd; ehl;L gd;dhl;L xj;Jiog;G 

Kfikapd; KO cjtpiaAk; ngWk; 

njhFg;Gfis fz;Lgpbf;f. 

(i) nkl;Nuh uapy; jpl;lk; -I> n`hNfdf;fy; 

ePH mspg;G> efHg;Gw cly; eyg;ghJfhg;G 

(ii) nkl;Nuh uapy; jpl;lk; -II. fhNthp FbePH 

mspg;G> rkpQ;ir mDg;Gk; Kiw 

(iii)KjyPL tsHr;rpj; jpl;lk;> efHg;Gw 

fl;likg;G> nrd;id-ngq;fSH  

njhopw;Gw top 

(iv) fly; ePiu Fb ePuhf;Fk; jpl;lk;> 

nrtptopj; jkpo; nrhy;ypay; Ma;Tj; jpl;lk;> 

nrd;id Rw;W tl;l rhiy 

fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J 

rhpahd tpiliaj; NjHe;njL. 

A) (i) (ii) kw;Wk; (iii)  

B) (i) kw;Wk; (iii) 

C) (i) (iii) kw;Wk; (iv)  

D) (iii) kw;Wk; (iv) 
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Model Test 2 (General English) - TNPSC Group 2 (A)
1. In Oscar Wilde‘s ‗The Selfish Giant‘,_____ 

came and took the giant to Paradise. 

 A)Jesus Christ  B) An angel 

 C) An evil spirit  D) The giant‘s friend 

2. Fill in the blanks with a suitable article. 

 The value of _____Euro is determined 

 according to the conversion rate fixed by 

 eleven European countries in terms of their 

 own currencies. 

 A) the   B) an 

 C) a   D) no article 

3. ‗Goodwill‘, ‗software‘ and ‗gentleman‘ are 
examples of compound words formed by 

joining   and . 

A) noun and noun  

B) Adjective and noun   

C) verb and adverb   

D) adverb and noun 

4. Which of the following poem is written by 

David Roth?  

A) Be Glad Your Nose is on Your Face  

B) Nine Gold Medals 

 C) Manliness 

 D) Is Life But a Dream?  

5. Which one of the following tag questions is 

incorrect? 

 A) Anand likes oranges, doesn‘t he? 

 B) It is raining, isn‘t it? 

 C) I am a teacher, am not I? 

 D) He did not break the window, did he? 

6. Which one of the following compound-nouns 

is wrong? 

 A)Coat - of – mails 

 B) Governors - general 

 C) Runners - up  

 D) Grown - ups 

7. In which poem, do you find the following 

line?―Virgin rock takes form‖. 
 A)Migrant Bird  B) The Earth 

 C) Shilpi   D) To a Millionaire 

8. In Oscar Wilde‘s ‗The Model Millionaire‘ 
why did Alan Trevor leave the studio for a few 

minutes? 

 A)He had another appointment 

 B) He went to see his son 

 C) He went to see a frame maker  

 D) He went to see a customer  

9. What is the name of the 

Commander whose forgiveness Abraham 

Lincoln sought for being rude to him? 

 A) Colonel Scott B) Colonel Henry 

 C) Colonel James D) Colonel Wilson 

10. Who wrote the poem ―No Men are Foreign‖? 

A) Brian Patten  B) David Roth 

C) Kamala Das  D) James Kirkup 

11. Identify the person who fought for the 

preservation of many important forests, like 

the Bharatpur, Bird sanctuary and Silent 

Valley. 

 A)Medha Patkar B) Zai Whitaker 

 C) Dr. Salim Ali D) Arundhathi Roy 

12. Fill out the blank with the appropriate 

conditional: 

 You had better consult a doctor,  your

 condition will become worse. 

 A) unless  B) otherwise 

 C) Provided that D) in case 

13. ―Into the dreary desert sand of dead habit‖ 
What figure of speech can be identified in the 

aforesaid line from the poem, ―Where the 
Mind is Without Fear‖? 

 A) Oxymoron  B) Synecdoche 

 C) Assonance  D) Alliteration 

14. In Oscar Wilde‘s ‗The Model Millionaire‘, 
Alan Trevor was a good painter because  

 A)he was strict             

B) he had natural talent 

 C) he was popular  

D) he was friendly 

 



 

2  

 

15. Identify the correct sentence from the four 

options given below : 

 A) All that glitters are not gold 

 B) All that glitter are not gold   

 C) All that glitter was not gold  

 D) All that glitters is not gold 

16. What did the ―Last man in‖ in the story ―Our 
Local Team‖ do and what was the umpire‘s 
reaction? 

 A)The Last man hit a sixer and the umpired 

 raised his indicating finger 

 B) The Last man hit a boundary and the 

 umpire levelled his hands on both sides 

 C) The Last man hit a boundary with his pad 

 and was given L.B.W. 

 D) The Last man hit a boundary with his pad 

 but the umpire maintained telling 

'Not Out‘ 
17. ―Count your blessings, not your troubles‘ - 

Here the writer‘s emphasis is on _______. 

 A)Pessimism  B) Nihilism  

 C) Optimism  D) Truism 

18. ―The highest result of education is tolerance‖. 
Who made this statement?  

A)Rabindranath Tagore  

B) A.P.J. Abdul Kalam 

 C)  Helen Keller  

 D) Oscar Wilde  

19. ―Here ‘tis, most reverend Doctor, here it is‖. 
 Who is the speaker and who is the listener? 

 A)Bassanio to Duke B) Shylock to Duke 

 C) Shylock to Portia D) Portia to Shylock 

20. Choose the correct answer from the options 

given below : 

 ―In every land is common life 

 That all can recognize and understand‖ 

 These lines are taken from the poem 

 A)With a friend        B)Nomen are foreign 

C) My native land      D) To India 

21. "Man is born free but is everywhere in 

chains‖. Who made this famous statement? 

A)Voltaire  B)Jacques Rousseau 

 C) Descartes  D) Napoleon 

22. ‗Jai Hindh‘ - whose inspiring words of 

salutation are these? 

 A)Gokhale  

 B) Subhash Chandra Bose 

 C) Bala Gangadara Tilak  

 D) Mahatma Gandhi 

23. ―How beautiful you are, Earth, and how 

sublime  

 How perfect your obedience to the light and 

 how - noble is your submission to the sun‖ 

 What is the figure of speech used in the above 

 lines? 

 A) Personification B) Metaphor 

 C) Metonymy  D) Simile 

24. In ―On the day of Sicilian July, with Etna 
smoking‖ The reference to Sicilian July is an 

example of 

 A)Anaphora  B) Metaphor 

 C) Ellipsis  D) Allusion  

25. Choose the correct alternative from the options 

given below : 

 He used to visit us every week, but now. . 

 A)rarely comes  B) was rarely coming 

 C) has rarely come D) had rarely come 

26. Fill out the blank with suitable preposition 

given below : 

 The book comprises  seven lessons. 

 A)of   B) no preposition 

 C) for   D) in 

27. Which among the following words cannot be 

used as an adverb? 

 Well, early, daily, lonely 

 A)well   B) lonely 

 C) early   D)  daily 

28. Read the following passage and select the 

incorrect statement from the given options : 

There is a big cultural gulf between city 

colleges and suburban colleges. If some of the 

former are now given a degree of autonomy, it 

will only heighten this disparity. 

A)The gulf between city colleges and 

suburban colleges can be bridged by giving 

autonomy to some city colleges 

B) Giving autonomy to some city colleges will 

heighten the disparity between city and urban 

colleges 

C) There is a Cultural divide between rural 

and urban colleges  

D) Giving a degree of autonomy to some city 

colleges is not a proper solution to bridging 

the disparity between city colleges and 

suburban colleges 

29. Fill in the blanks with suitable articles. 

He is _____teacher by profession. He loves 

______ teaching. 
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A)a, an   B) a, no article 

C) a, the  D) the, a 

30. Fill out the blank with the appropriate 

preposition given below: 

I am listening to music ______ the radio. 

A)of   B) in 

C) from   D) on 

31. Which among the following is not a word 

formed by blending? 

A)biopic  B) motel 

C) notebook  D) guesstimate 

32. Choose the correct antonym for the underlined 

word from the options given: 

The girls had a queer feeling that they were 

being watched. 

A)curious  B) ordinary 

C) abnormal  D) dubious 

33. Which one of the following sentences is 

incorrect? 

A)Bread and butter is my breakfast 

B) Either of the two boys has done this  

C) The quality of the apples were good 

D) Neither Raj nor his friends have come 

34. Identify the figure of speech in ―And flickered 
his tongue like a forked night on the air, so 

black‖. 
A)simile  B) metaphor 

C) alliteration  D) oxymoron 

35. Which among the following poems contains a 

strong anti-war message? 

A) The Apology           

B) The Man He Killed 

C) Manliness        

D) The Cry of the Children 

36. In which Indian state was Kalpana Chawla 

born?  

A) Madhya Pradesh  B) Haryana  

C) Punjab  D) Rajasthan  

37. ―I try my best to be 

A mother like the mom you were to me‖. 
Find out the option that beet explains the 

meaning of these lines. 

A)The speaker does not want to be a mother 

like her own mother  

B) The speaker compares her mother to her 

concept of an ideal mother  

C) The speaker wants to be a mother for her 

child like any other mother  

D) The-speaker always tries hard to emulate 

her mother and considers her as her role model 

38. In Julius Caesar, Antony says, ‗Friends, 
Romans, country men, lend me your ears'. 

What does this opening line signify? 

A)Do not listen to me  

B) It is a rhetoric to Lure the audience 

C) It is an ice-breaker  

D) Speak back to me 

39. ―Here 'tis, most reverend Doctor, here it is‖. 
In the above line what does Shylock refer to 

by it? 

A)money the bond 

B) the scales for weighing the flesh  

C) the bond 

D) the knife (to cut Antonio‘s flesh) 
40. What does the poet wish for his country in the 

following lines? 

―Where the world has not been broken up into 
fragments/By narrow domestic walls" 

A)fearlessness and dignity 

B) freedom from domestic violence  

C) equality and harmony 

D) parochial attitude 

41. In Oscar Wilde‘s ‗The Selfish Giant‘, the 
children entered the giant‘s garden 

A)by climbing over the wall 

B) by opening the gate  

C) through a small hole in the compound wall 

D) by jumping over the gate  

42. Though hit for six, 

In came their slogger‘ 
Which is referred to here? 

Choose the right option from the following? 

A)Hockey   B) Cricket  

C) Football  D) Snooker  

43. Which of the following is the title of a poem 

written by Berton Braley?  

A)Prayer for My daughter  

B) Prayer of a sportsman 

 C) Where the mind is without fear 

 D) Silent Prayer 

44. In the line, ―Good luck/is round the corner‖, 
―round the corner" means 

A)in the corner of your house  

B) just waiting to happen 

C) near the corner 

D) cornered 



 

4  

 

45. ―I can‘t think of making money out of 
something that God gave me free‖ The above 

words were uttered by  

A)C.V. Raman 

B) Abraham Lincoln 

C) George Washington Carver 

D) Nelson Mandela  

46. Find out the word that has got a wrong prefix. 

 A) Invincible  B) Indelible 

 C) Malnourished D) Unaccessible 

47. Find out the odd word from the list given 

below : 

 A)common  B) strange 

 C) usual  D) regular 

48. Read the sentence to find out whether there is 

any error. If there is any error mark the part  

A, B, C or D as the case may be. 

 Most of the victims  has underwent first aid_  

  A   B 

 by the time the  ambulance van reached the 

  C   D 

 accident site. 

 A)A   B) B 

 C) C   D) D 

49. Identify the statement that best explains the 

use of metaphor in ―laugh till the game is 
played; and be you merry, my friend‖. 

 A)laughter is compared to a merry-making 

 game 

 B) game is compared to a merry friendship 

 C) life is compared to laughter and merry 

 making  

 D) life is compared to a game 

50. Which among the response explains the 

following line: ―Day light will be on the 
switch and winter under rock‖. 

 A)Daylight will restrict the damaging impact 

 of winter 

B) Winter‘s chillness will be under the lock of 
the daylight‘s heat 

 C) Daylight will be turned on when winter is 

 kept under lock 

D) There will be a continuous switching over 

 from day to night, and there will not 

be any  changing seasons  

51. ‗The life of a student is, comparatively 

speaking, a sheltered life‘ 
 What does Gokhale mean by this? 

 Choose the one statement which is 

 inappropriate. 

 (A)They are protected by their parents 

 B) They have lesser responsibilities  

 C) They need not discharge their duties as 

 students 

 D) They have the privilege of being helped by 

 others 

52. What is the nationality of Robert Frost? 

 A)British  B) Canadian  

 C) American  D) French 

53. In Oscar Wilde‘s ―The Model Millionaire‖ 
Hughie could marry Laura provided 

 A)he lent a thousand pounds to Laura‘s  father  

 B) he gifted Laura ten thousand pounds 

 C) he came into possession of ten thousand 

 pounds 

 D) he borrowed ten thousand pounds  

54. Many of Pearl S. Buck‘s books have
 background. 

 A) American   B) Chinese 

 C) Scottish  D) Burmese  

55. Identify the work which is not written by 

Oscar Wilde?  

 A)The Selfish Giant 

 B) The Happy Prince 

 C) The Importance of Being Earnest 

 D) Snake  

56. Identify the work known for its nationalist 

theme.  

A)The Model Millionaire 

 B) Keep Your Spirits High 

 C) Our Local Team 

 D) Where the mind is without fear  

57. In Oscar Wilde‘s ‗The Selfish Giant‘ the giant 
saw something marvelous in his garden. He  

saw 

 A)a silver tree with golden blossoms 

 B) a golden tree with white blossoms 

 C) a pink tree with yellow blossoms 

 D) a dull tree with no blossoms  

58. Dr. Karl Paulnack assures that failure of peace 

for humankind lies in the hands of 

A)students  B) statesmen  

C) artists  D) religious leaders 

59. Complete the sentence with a suitable tag. 

Nobody saw us, _____ ? 

A)do they?  B) did they? 

C) didn't they?  D) doesn‘t he?  
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60. Match the prefixes under Column — A with 

the words under Column — B correct code : 

 Column A  Column B 

A) Post 1.appearance 

B) Ir 2.alignment 

C) Dis 3.independence 

D) Non 4.reparable 

 A) B) C) D) 

A 1 3 4 2 

B 2 4 3 1 

C

) 

3 4 1 2 

D 4 3 2 1 

61. Pick out the sentence that is grammatically 

incorrect.  

A)I have not seen him since four years  

B) Never enter my house again  

C) Character is preferable to intelligence  

D) He goes to school in time 

62. ‗Love is not love 

Which alters when it alteration finds' — 

What is the figure of speech presented in these 

lines? 

A)Personification  B) Alliteration 

C) Simile  D) Oxymoron  

63. ―And, underneath our heavy eyelids drooping, 

/ The reddest flower would look as pale as 

snow‖. 
The figure of speech used here is 

A)simile  B) metophor. 

C) personification D) Allusion 

64. In the idiom 'a storm in a teacup', which of the 

following is used as a replacement for the 

word ‗storm‘ in American English? 

 A)Cyclone  B) Tempest 

 C) Typhoon  D) Hurricane 

65. Read the following lines from : 

The Merchant of Venice and answer  

But mercy is above this sceptred away,  

It is enthroned in the heart of kings, 

It is an attribute to god himself. 

A)holiness  B) purity  

C) mercy  D) sanctity 

66. In the poem ―O Captain! My Captain!‖, What 
does Whitman mean by the line, ―the prize we 
sought is won"? 

A)The North and South America got 

integrated 

B) The prosperity of USA had been secured 

C) The military sovereignty had been assured 

D) The safety and security of USA had been 

ensured  

67.  ―Though I gave premium to rationalism then, 
I had difficulty thinking of Yaanai Malai as a 

non-living, huge chunk of stone‖. 

Choose the right idea conveyed by the 

statement mentioned above. 

A)The speaker  gives importance to Yaanai 

Malai 

B) The speaker is not bothered about the non-

living things 

C) The speaker believes that Yaanai Malai is a 

small thing 

D) The speaker being a rational person feels 

difficult to consider Yaanai Malai as an 

inanimate thing 

68. In ―you gotta be dead first‖, ―gotta‖ means 

A)will   B) have got to 

C) got   D) get out to 

69. How does Ahtushi Deshpande describe the 

taste of water at Dudh and Suraj Kund ponds? 

A)The sweetest  B) Salty 

C) Bland  D) Brackish 

70. In The Merchant of Venice, in the line, 

‗Therefore, lay bare your bosom‘, Here, Your 
refers to  

A)Antonio  B) Bassanio 

C) Shylock  D) The duke 

71. Judge, O you gods, how dearly Caesar lov‘d 
him! 

This was the most unkindest cut of all; 

Who is referred to as "him‖ here? 

A)Antony  B)Casca 

C) Brutus  D) Lepidus 

72. Match the following characters in Column A 

with the story titles in Column B and Select 

the correct answer from the options given: 

Column A Column B 

A)Masha  1. Two friends 

B) Behrman 2. The open 

window C) Morissot 3. The last leaf 

D) Vera 4. The lottery ticket 

 A) B) C) D) 

A) 3 4 2 1 

B) 4 3 1 2 

C) 2 1 4 3 
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D) 1 2 3 4 

73. Which of the following character figures in 

Guy de Maupassant‘s ‗Two Friends‖? 

A)Johnsy  B) Sue 

C) Sauvage  D) The Cornish Ogre 

74. Amrita Devi‘s act of sacrifice paved way for 
A)Women empowerment 

B) Environmental awareness  

C) Chipko movement 

D) Prevention against sati  

75. ―I spend the day moseying in and out of our 
cave‖? 

Select the correct sentence 

A)The author goes for a leisurely walk 

B) The author is restless 

C) The author does not want to go out 

D) The author is in a hurry to come back to the 

cave 

76. Complete the sentence with a suitable question 

tag. 

 Please close the door, _______ 

 A)will you?  B) will he? 

 C) can you?  D) should you? 

77. ―Now drops that floated on the pool  
Like pearls, and now a silver blade‖. 

 What figure of speech can you find in the 

 underlined part of the above lines? 

 A) Personification B) Metonymy 

 C)  Metaphor             D) Transferred epithet 

78. Why did Brutus kill Julius Caesar, according 

to Brutus own defense?  

A)Because Caesar was ambitious 

 B) Because Brutus loved Caesar less 

 C) Because Brutus loved Rome less 

 D) Because Caesar was valiant  

79. Match the poems with the poets : 

A)Earth D.H. Lawrence 

B) Snake H.W. Longfellow 

C) A Psalm of life Khalil Gibran 

D) Be Glad Your 

Nose is on Your 

Face 

Jack Prelutsky 

 A) B) C) D) 

A) 3 1 2 4 

B) 1 3 4 2 

C) 2 3 1 4 

D) 4 3 2 1 

80. ―.... through he had no hand in his death, Shall 
receive the benefit of   his dying, a place in the 

common wealth‖. 
 Who is speaking about whom in the above 

 passage from Julius Caesar? 

 A)Antony about Brutus 

 B) Brutus about Antony 

 C) First Citizen about Brutus 

 D) Octavious about Antony 

81. Identify the word pair which is different in 

pronunciation in British English and American 

English usage : 

British English  American 

A)cheque - check 

B) metre - meter 

C) schedule - schedule 

D) licence - license 

82. What is the speciality of the ‗Vimanams‘ of 
the Brahadeesvarar temple? 

 A)Built of teak wood 

 B) Built with a special kind of mortar 

 C) Built with stones with bonding and 

 notching  

 D) Built up without the use of mortar  

83. Who among the following is the author of the 

story, ‗‗The Wooden Bowl‖?  
A)Leo Tolstoy   

B) Oscar Wilde 

 C) Guy de Mauppasant 

 D) R.K. Narayan 

84. What does Tagore suggest to lead us to 

perfection in the poem ―Where the mind is 
without fear‖? 

 A)Tireless striving  

B) Equality and harmony 

 C) Religious spirit  

D) Political dogmas 

85. Pick out the statement which is wrong about 

Mahatma Gandhi. 

A)Mahatma Gandhi was a ceaseless crusader 

 of women‘s equality 

 B) Gandhi was no advocate of blind 

 adherence to tradition 

 C)  He was an extraordinary lover of truth 

 D) Gandhi considered women to be unfit for 

any position or task 

86. Find out the American equivalent of the 

British English idiom, ―a storm in a teacup‖ 
A)a whirlpool in a teapot 



 

7  

 

B) a hurricane in a teacup  

C) a tempest in a teacup 

D) a strong wind in a teapot 

87. Match the poets and their nationality : 

A)Thomas Hardy 1. Indian 

B) Ralph Waldo Emerson 2. Lebanese 

C) V.K. Gokak 3. British 

D)  Khalil Gibran 4. American 

 A) B) C) D) 

A) 3 4 2 1 

B) 3 2 4 1 

C) 4 3 1 2 

D) 3 4 1 2 

88. Match the words in Column A with the words 

in Column B and choose the right option 

Column A Column B 

A)Bonnet 1.jelly 

B)Dustbin 2.pitcher 

C)Jam 3.trash can 

D)Jug 4.hood 

 A) B) C) D) 

A) 2 3 4 1 

B) 4 3 1 2 

C) 3 4 1 2 

D) 2 3 1 4 

89. If you can‘t be a muskie, then just be a bass. 

What does the underlined word from the poem 

―Be the Best'‘ refer to? 

A)A type of rose B) A type of lilly 

C) A type of lotus D) A type of animal 

90. Figure out the word that is not closely 

associated with music 

A)quartet  B) repertoire  

C) articulate  D)sonata 

91. Fill in the blank with the correct option : 

Antony says that Caesar was vanquish not by 

weapons but by _____ 

A) Ingratitude      B) his ambition 

C) The inauspicious stares   D) the prophecy 

92. Identify the phrase with the correct usage of 

articles. 

A) a university  B) an union 

C) an European  D) a hour 

93. Pangolin figures in 

A)The Ant Eater and The Dassie 

B) Swami and the sum 

C) The Neem Tree 

D) The Wooden Bowl 

94. Rabindranath Tagore‘s works are originally 
written in 

A)Hindi  B) Bengali 

C) English  D) Kannada 

95. Identify the poet who wrote the following line:  

―If you can't be the sun, be a star" 

A)Douglas Malloch   B) Tennyson 

C) William Wordsworth D) Robert Frost 

96. In Julius Caesar, Antony speaks the following 

line : 

 ―This was the most unkindest cut of all‖. 
 The ‗cut‘ in the above line refers to the stab of 

A)Casca  B) Cassius  

 C) Brutus  D) Pompey 

97. Find out the synonym of the underlined word 

from the options below : 

You have first of all to lay by a stock of 

knowledge that will suffice you not sincerely 

for your examinations but will be helpful to 

you in later life. 

A) be adequate  B) be inadequate 

C) be insufficient D) be helpful 

98. Match the words/phrases under Column A 

with their meanings under Column B and 

select the correct code from the options given: 

Column A Column B 

A)on account of 1. to get used to 

B) in the midst of 2. to tolerate 

C) to be accustomed 

to 

3. in the middle of 

D) to bear with  4. owing to 

 A) B) C) D) 

A) 4 3 1 2 

B) 3 4 1 2 

C) 4 3 2 1 

D) 4 2 1 3 

99. Choose the correct tense form of the verb from 

the options given below 

The bees little silas and he cried 

bitterly. 

A)stings  B) stinged 

C) stang  D) stung 

100. ―And then he screamed fiendishly‖ 

Look for the appropriate synonym for the 

underlined word from the options given below 

A)falsely  B) loudly 

C) wickedly  D) foolishly 
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